UGC NET 2022 LAW

Topic:- 58_PARTA_S2

1) Who said that there are two elements of possession, (a) Corpus possessionis and (b)

Animus domiini?

1. lhering
2, Paton

3, Savigny
4, Salmond

oo G o dalaas?
(2) DI URATETSHIAY (b) TFEY ST

1, SITEIT
2,974
3, Ifgdt
4 HEEE

[Question ID = 301][Question Description = 101_58_LAW_0OCT22_S2_Q01]
1. 1 [Option ID = 1201]
2. 2 [Option ID = 1202]
3. 3 [Option ID = 1203]
4. 4 [Option ID = 1204]

2) Given below are two statements

Statement |: Hart deals with primary rules of obligation and secondary rules of

recognition
Statement II: Hart has nothing to do with the reformulation of analytical positivism

In light ef the above statements, choose the most appropriate answer from the

options given below

1. Both Statemient | and Statement 1l are correct

2. Both Statement | and Staternent 1l are incorrect

3, Statement | is correct but Statement || is incorrect
4, Statement | is incorrect but Statement |l is correct

®YT | : BIC Glidd & Udiae HadT R 909 & fgode Hgdl &1 99] @i 8
HY || B1C @ [GXIUHS GHRIEHAG & QU & 91 BTs g8 781 81
Iulad YA & Heie & Fgifed e H 3 98 IR &1 909 Bife .

1. 597 | R I EHT TR R
2 FYF IR IGHITEd§
3. T I TR e A @ I TTad 8
4, YT | A &, S PU 1| Fel B

[Question ID = 302][Question Description = 102_58_LAW_0OCT22_S2_Q02]



1 [Option ID = 1205]
2 [Option ID = 1206]
3 [Option ID = 1207]
4 [Option ID = 1208]

A wnN =

3) Trade secrets do not cover the following information:

1. Commercially valuable

2. Production methods

3. Business plans

4. Information discovered by reverse engineering

fFrafarad # 9 S ga-1 oaR tewl A Q1 92 ahdl 8 :
1. o® €9 9 geaaH
2. JdreA farem
3, WEFEE g
4. g d Seifafon gy @ 718 gE

[Question ID = 303][Question Description = 103_58_LAW_0OCT22_S2_Q03]
1. 1 [Option ID = 1209]
2. 2 [Option ID = 1210]
3. 3 [Option ID = 1211]
4. 4 [Option ID = 1212]

4) Article 13 of the Constitution of India does niot apply to:

1. Any legislation made by the Parliament under Article 245 of the Constitution

2. Any legislation made by the Parliament under Article 253 of the Constitution
giving effect to international agreements

3. Any amendment of the Constitution made under Article 368

4, Custom and usage

Fafafad & 9 ferad wia WRd §iayH @1 sawe-13 ar el sidl & -
1. HIEHH & SFRsT - 245 & JAdid YUS R Sadl 1] Bl 99
2. WAy & IT=q - 253 & Adila FRIPIY GAgGl DT deud Pid ge HEG GRT
M1 T ®i [9UH
3. TG - 368 T Sy UioUH § 59 TEI BE B
4, g AR T

[Question ID = 304][Question Description = 104_58_LAW_0CT22_S2_Q04]
1. 1 [Option ID = 1213]
2. 2 [Option ID = 1214]
3. 3 [Option ID = 1215]
4. 4 [Option ID = 1216]

5) Under which article of the Constitution of India, is it the duty of the Union to protect
every State against external aggression and internal disturbance and to ensure that
the governmenit of every state is carried on, in accordance with the provisions of the
Constitution of India?

1. Article 353
2, Article 354
3. Article 355
4, Article 356



YRETE ORYE & HY e ® JaTd 9 @ Haod § 1P 98 918l Apa 3R
3faRe Siiifd | Udiss Ted @1 I8 $ aul GRET o1 6 Hidia 6y & amel &
YR U® U6 &1 THR o gerl 9 ;

1, 37=9% - 353

2, 3G - 354

3, =g - 355

4, FT=hg - 356

[Question ID = 305][Question Description = 105_58_LAW_0OCT22_S2_Q05]
1. 1 [Option ID = 1217]
2. 2 [Option ID = 1218]
3. 3 [Option ID = 1219]
4. 4 [Option ID = 1220]

6) Every decision of the Goods and Services Tax Council shal| require it to be taken at a

meating:

1. by a majority of not less than two-thirds of the weighted votes of the members
present

2.by a majority of not less than three-fourths of the weighted notes of the
members present

3.by a majority of not less than two-thirds of the weighted notes of all the
members of the Council

4. by a majority of not less than three-fourths of the weighted notes of all the
members of the Council

a5 U4 H9] % URYE &1 TS (Ud U a6 H o] S ;
1, JURET Yol B AHUIYE Wl (@23 91e8) $ al-l9e1s 9547 4 $H 761 & g
2, UM el & BT Hal & d--914Ts Sgha § o 6] © gRI
3, u7Eg & it Gow! & S Fal & Gl-Iiels 9gHa § &F g & gl
4 giteg & 9 9eHl & S Tal & iH-91YTs ggad 4 &4 ol & GN

[Question ID = 306][Question Description = 106_58_LAW_0OCT22_S2_Q06]
1. 1 [Option ID = 1221]
2. 2 [Option ID = 1222]
3. 3 [Option ID = 1223]
4. 4 [Option ID = 1224]

7)  Which of the following is/are NOT administrative acticns?

1. Internment, Bxternment and Deportation
2. Functions of a selection committee

3, Fact-finding action

4, Forming opinion on objective satisfaction

Fafefag # 3 9 1IeRe oreE Tl o ;
2, 95 9B @1 dRas
3, T @1 Udl & @] BRdls
4, FEUD GHIUHE P & H I g1

[Question ID = 307][Question Description = 107_58_LAW_0OCT22_S2_Q07]
1. 1 [Option ID = 1225]
2. 2 [Option ID = 1226]
3. 3 [Option ID = 1227]
4. 4 [Option ID = 1228]



8) Every state and every local authority within the state is required to provide adequate
facilities fer instruction in the mother-tongue at the primary stage of education to
children belonging to linguistic minority groups under,

1. Article 350
2, Article 350 A
3, Article 350 B
4 Article 351

T & Wi T U IR Tde i TReR g Fefafed § 9 e eidia
Y9! SFUEEIE 996! & = @I WuHS w0 § BO-U § ey & O uaid
YIS Ue S HEWE © ;

1, 3=9% - 350

2, 9955 - 350 - ¥

3, 3% - 350 - &1

4, 3% - 351

[Question ID = 308][Question Description = 108_58_LAW_0OCT22_S2_Q08]
1. 1 [Option ID = 1229]
2. 2 [Option ID = 1230]
3. 3 [Option ID = 1231]
4. 4 [Option ID = 1232]

9) Ordinarily, a delegated legislation can be given:

1. prospective effect only

2. retrospective effect anly

3. both, prospective and retrospective effect
4, effact, as the Court may decide

TG SR fauE g s aedl & -
1, TaT AMHI FHE
2. thad Ydael THE
3. ST UHTE AR Yl THE Al
4, HTSE WHE 8 & e | oo o g@al gl

[Question ID = 309][Question Description = 109_58_LAW_0OCT22_S2_Q09]
1. 1 [Option ID = 1233]
2. 2 [Option ID = 1234]
3. 3 [Option ID = 1235]
4. 4 [Option ID = 1236]

10) I which one of the following cases, Legal aid was held as a fundamental right?

1. 5unil Batra case

2. M.H. Hoskot case

3, Prem Shankar Shukla case
4, Keshvananda Bharathi case

fufafad ¥ | fow 9 4 fal9e 9g/™al @f 1o Hiias S9HR & &9 5 J=1 7147 4l

1. G & e

2. THTE. BIRPIE 5
3, 57 TR e B
4, HEEHE HRAl B9



[Question ID = 310][Question Description = 110_58_LAW_0CT22_S2_Q10]
1. 1 [Option ID = 1237]
2. 2 [Option ID = 1238]
3. 3 [Option ID = 1239]
4. 4 [Option ID = 1240]

11)  The Hicklin test under Article 19(2) is related to:

. Defamation

. Decency and morality
Integrity of India

. Negligence

TG - 19 (2) T AT fomiod o [pod SaUa & 7
1. 949814
PREGIRITEIREIl
3, HId @1 Sr@sdl
4, JUET

LD -

[Question ID = 311][Question Description = 111_58_LAW_0OCT22_S2_Q11]
1. 1 [Option ID = 1241]
2. 2 [Option ID = 1242]
3. 3 [Option ID = 1243]
4. 4 [Option ID = 1244]

12) In the Constitution of India, the principle of Rule of Law is‘mainly embedied in;

1. Article 74
2. Article 32
3. Article 226
4, Article 227

fafl & 2o @1 fosia gere: foud siafap & 7

1. U GfAUH B G - 14
2. HRd1g Sy @ es - 32
3. HIRd1g SayH @1 wS - 226
4, HRAG WiaYH @ {qwdg - 227

[Question ID = 312][Question Description = 112_58_LAW_0OCT22_S2_Q12]
1. 1 [Option ID = 1245]
2. 2 [Option ID = 1246]
3. 3 [Option ID = 1247]
4. 4 [Option ID = 1248]

13) Which ef the following is NOT correct under the Geographical Indications of Goods

{Registration and Protection) Act, 19997

1. Producer, in case of agricultural goods, includes the person who produces the

goods

2. Producer, in case of agricultural goods, includes the person who packages such

goods

3. Praducer, in case of natural goods, includes the person whe exploits such goods

4, Praducer, in case of handicrafts, includes the person who packages such goods



Prafefad & § S1g BY 910 & Giiiee Juas ReRee IR wram) ks,
1999 & 2feFid Hal Jgl & 7
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[Question ID = 313][Question Description = 113_58_LAW_0OCT22_S2_Q13]
1. 1 [Option ID = 1249]
2. 2 [Option ID = 1250]
3. 3 [Option ID = 1251]
4. 4 [Option ID = 1252]

14)  Which of the following can be registered as a Trade Mark?

1. Mark devoid of distinctive character
2. A distinctive mark

3. A mark causing confusion

4, Oval shape for medicinal tablet

Fafofas § € foge s <5 916 & ©0 § ool [6d) o 9%dl &
1. [afRw seR R o=
2, faveorl e
3, YAD g
4, Fafedig 7Tieh @ o SUSTHR AP

[Question ID = 314][Question Description = 114_58_LAW_0OCT22_S2_Q14]
1. 1 [Option ID = 1253]
2. 2 [Option ID = 1254]
3. 3 [Option ID = 1255]
4. 4 [Option ID = 1256]

15)  Who defined ownership as 'plenary control ever an object’?

. Roseoe Pound
. Holmies

. Heolland

. Paton

fopd! Um g O Ganiy) U0 @ feowe gR1 oIt fear g 2
1. 5P TGS
2. 50
3, B8
4 924
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[Question ID = 315][Question Description = 115_58_LAW_0OCT22_S2_Q15]
1. 1 [Option ID = 1257]
2. 2 [Option ID = 1258]
3. 3 [Option ID = 1259]
4. 4 [Option ID = 1260]



16) Who said, "A legal person, is any subject matter other than a human being to which

law attributes personality™?

1. Salmiond

2. Holmes

3. lerome Frank
4, Pound

‘fafte =1fdg g9 & sEmaE ors fayuaw &, e Gl affdm mr wsu ol g1
IITg Y a8

1. OTHS
2. B

3. o e
4, U138

[Question ID = 316][Question Description = 116_58_LAW_0OCT22_S2_Q16]

1. 1 [Option ID = 1261]
2. 2 [Option ID = 1262]
3. 3 [Option ID = 1263]
4. 4 [Option ID = 1264]

17) In the light of the Criminal Law (Amendment) Act, 2013, which of the following

statements isfare correct?

1. The word 'rape’ insection 375 IPC has been replaced with 'sexual assault’
2. Rape is now a gender-neutral offence

3, The Amendment has fixed the age for consensual sex as 16 years

4, The Amendment has fixed the age for consensual sex as 18 years

%S fafy (deiye) Af9ETg, 2013 @ e § FEiaied 8 O &9 oY T8l 87
1. TS UL HI, B U - 375 4 FO@ ¥ Uet | U gHa’ o Wio=1dd [T 7141 g
2, PR g [e-FRus U 8|
3,59 U3l 4 URE® 414 H6 & [ 16 94 o) g FuiRa 38l
4, 59 UITeE 4 IREND 314 W8 $ Y 18 98 @) 3 RufRa S8l

[Question ID = 317][Question Description = 117_58_LAW_0OCT22_S2_Q17]
1. 1 [Option ID = 1265]
2. 2 [Option ID = 1266]
3. 3 [Option ID = 1267]
4. 4 [Option ID = 1268]

18) The doctrine, res-ipsa loguitur; was applied by the Supreme Courtin

1. Alka v. Union of India

2,Asa Ram v, Municipal Corporation of Delkj

3. Municipal Corperation of Delhi v. Subhagwanti
4, Jashir Kaur v, State of Punjab



gafe grre - Fafetad § € ed g aiege (<ot v Raid vged fear
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[Question ID = 318][Question Description = 118_58_LAW_0OCT22_S2_Q18]
1. 1 [Option ID = 1269]
2. 2 [Option ID = 1270]
3. 3 [Option ID = 1271]
4. 4 [Option ID = 1272]

19) The test of reascnable foresight in determining remoteness of damages was first

applied in

1. Re: Polerris:

2, Wagon Mound Case

3. Doughty v, Turner Manufacturing Co,Ltd

4, S.C.M (United Kingdom) Ltd. v, WJ.Whittal & Sons

Fafofea & § g ama & &gl @ o & Ryl & faw vgedt ar o9faa
aTa & Y40 & ngad fasar T Al 7

1.3 : giaRg

2. A EEs oY

3, 3141 &M TR Agihad o] @, o,

4,941 @, (GAsds [Pien) fo, €91 Sseg, o, alseq Us 4

[Question ID = 319][Question Description = 119_58_LAW_0OCT22_S2_Q19]
1. 1 [Option ID = 1273]
2. 2 [Option ID = 1274]
3. 3 [Option ID = 1275]
4. 4 [Option ID = 1276]

20) The Consumer Protection Act, 2019, talks about direct selling, e-commerce and

electronic service provider

1. True

2 False

3. Consumer Protection Act, 1986 did not provide about this
4 Both 1and 3

STl Gam sHffTE, 2010 Ue fawy, S o SueE daT Tea B AN H
T BT B

1. %l

PRI

3, IUHIE H3am fAFEE, 1986 SHEN & I9EY Tel 6

4, (1) 3R @) gl

[Question ID = 320][Question Description = 120_58_LAW_0OCT22_S2_Q20]
1. 1 [Option ID = 1277]
2. 2 [Option ID = 1278]
3. 3 [Option ID = 1279]
4. 4 [Option ID = 1280]



21) In orderto establish a cartel, what is NOT necessary?

1. There should be an agreement

2.t should be between an association of producers, sellers, distributors, traders or
service providers

3.The objective should be to limit, control or attempt to control the product
distribution, sale or price of or trade in goods or provisions of services

4, Cartels are very good for competition

IHIGE 99 B WGl & [o78, T8 J1a%0® ol 6 10 :

1. @ gH &I Alfet] o o
2. 98 JdG® 99, Gwas, Amel, amial a1 991 el & 99 o 59
Tifeu]
3. 591 9o aegsfl U1 arsll & 3 & ARy, 4wy 11 SUwT 5 31 AR #1
o Wiy @3 a1 F=w 1 uar g Fie
4. IdTeE o9 ufaeayl e 9gd v e ol
[Question ID = 321][Question Description = 121_58_LAW_0OCT22_S2_Q21]
1. 1 [Option ID = 1281]
2. 2 [Option ID = 1282]

3. 3 [Option ID = 1283]
4. 4 [Option ID = 1284]

22) which one of the following is NOT one of the modes of termination of agency?

.Insalvency of principal
. Principal or agent’s death
.General Lien

5 LD -

. Revocation

Toidl & gugH o Al | e a ue el 6
1. 5801 (& BT HEHAT
2, TG 11 Tefe B I
3, A URUMEIER ([G99)
4, Jicr€exvl (@19 o)

[Question ID = 322][Question Description = 122_58_LAW_0CT22_S2_Q22]
1. 1 [Option ID = 1285]
2. 2 [Option ID = 1286]
3. 3 [Option ID = 1287]
4. 4 [Option ID = 1288]

23) ‘'\pluritarily' has been defined as an effect caused by means, whereby a person
intended to cause it or by means, at the time of employing those means, to know or
had reason to believe to be likely to cause it under:

.Section 35, IPC
.Sectien 36, IPC
.Section 39, IPC
.Section 40, [PC

da W =



TS o 1 UNHTE] G1EH gRI1 @iivd BH1E, forad 59 T1id $3 & [od Enad dfeg
37%d] 3 GIYAT & WA Sd 99Y 918 & X H 98 91d g1 S4al 98 9091 38 &
U H & 308 B13 9id B 5 &) YIS &, & &0 § & TS & 500 9ood $El &

1, TS, °14T, BT 9T - 35
2, A5 LA, BT YT - 26
3, A5 U4, ST U - 39
4, 315 L4, @ U - 40

[Question ID = 323][Question Description = 123_58_LAW_0OCT22_S2_Q23]
1. 1 [Option ID = 1289]
2. 2 [Option ID = 1290]
3. 3 [Option ID = 1291]
4. 4 [Option ID = 1292]

24) Arrange the following cases chronologically (starting from the earliest to the latest)
A. National Legal Servica Authority v U.O.1
B. Naz foundation v Govt. of NCT
C. Navte] Singh Johar v, U.O.|
D. Suresh Kaushal v, Naz foundation

E. The cases of Navtej Singh Johar and Suresh Kaushal were decided in the same
year

Choose the correct answer from the options given below

<G, EB.D
D, B A C
B, DA C
JE DA B

5 WM =

Fafaiad aEal (Ga) @] BaeHHaR (44 4 HRH ©id g€ Jdi4a9 ao) oadieud
HIfog ;

A, ETY e dar wifteee &4 431130,

C. Fads [He Hiet &8 T3 s,

D. G IR G4 A1 B3 S2H

E, e g Wiex IR X9 PIYe & Bad o 81 9y | ]
14 fau U fdeed| | 9 U5 3R &1 94 Bl ;

oy BB D
OB A C
B.D.AC
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[Question ID = 324][Question Description = 124_58_LAW_0OCT22_S2_Q24]
1. 1 [Option ID = 1293]
2. 2 [Option ID = 1294]
3. 3 [Option ID = 1295]



4. 4 [Option ID = 1296]

25) has to provide by making regulations for any tclass or class of companies
which may file a shelf prospectus with the Registrar at the stage of first offer of
securities,

TL.NCLT

2,5EBI

3.1BEBI

4, Director of a company

@1 SO & Bl @ 97 F & [0 [GH9E & < UaH B34 8 8, ol
wiHfod! & HaWYH URaId & ol H SRS i Xiew-1dav U] G ®e gl
gl

1. G HI T,
2,095, 91 9,
3, A5 ALE13TS.
4, HOH @ Fau®

[Question ID = 325][Question Description = 125_58_LAW_0OCT22_S2_Q25]
1. 1 [Option ID = 1297]
2. 2 [Option ID = 1298]
3. 3 [Option ID = 1299]
4. 4 [Option ID = 1300]

26) Every partner of a partnership firm is liable for all the acts of the firm done while he
is a partner, This doctrine is called:

1. The doctrine of holding out

2, The doctrine of restitution

3. The doctrine of estoppel

4, The doctrine of propertionality

fdl asiel B & Uiie 9eier B gRI [T T 9 @l @1 96 a@ o &, 9E
aﬂ%@ﬂ@m%mﬁﬁaﬁw%:

1. 9ETH S (G Slide A6 glfcaT 313¢9)

2, YA sl (g Sliagd s {Reamm)

3. 59 [a8Y [USid (G Slige % Teum)

4, STATIAT RIGId (G Siaed A WG]

[Question ID = 326][Question Description = 126_58_LAW_0OCT22_S2_Q26]
1. 1 [Option ID = 1301]
2. 2 [Option ID = 1302]
3. 3 [Option ID = 1303]
4. 4 [Option ID = 1304]

27) When an unmarried woman adopis a child and subseguently marries; the person
wha she subsequently marries; shall be the:

1. adoptive father of the child
2, stepfather of the child

3. natural father of the child
4 Either1or2



@ UF JHfadliad Alec U g @1 115 odl & X 396 Al (b4 digd 4§ [adre &l
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1, &= @] qu@ 19d1

2. &= @ gidal gl

3, §= @ 49H® (gl

4. (AR HIPR TP

[Question ID = 327][Question Description = 127_58_LAW_0CT22_S2_Q27]
1. 1 [Option ID = 1305]
2. 2 [Option ID = 1306]
3. 3 [Option ID = 1307]
4. 4 [Option ID = 1308]

28) Which of the following is NOT a ground of diverce available to wite under section
13(2) of the Hindu Marriage Act, 18557

1. Pre - Act bigamious marriage of the husband
2. Repudiation of marriage

3. Cruelty by husband

4, Husband guilty of rape, sodomy and bestiality

feg fdae offgm, 1955 B URT 13(2) & A Ual @1 Hgiaad 3 4 aa® @1
B YR 9 61 & 7

1 I o e faaw

2, faare @1 gaiit / FReR

3, O &1 Hdl

4, UTT &1 SORER, TT-H47F 3K U3 ST N g

[Question ID = 328][Question Description = 128_58_LAW_0CT22_S2_Q28]
1. 1 [Option ID = 1309]
2. 2 [Option ID = 1310]
3. 3 [Option ID = 1311]
4. 4 [Option ID = 1312]

29) The children born out of a void Hindu marriage, are in the eyes of law

1. illggitimate

2, legitimate

3. illegitimate, having ne rights in the ancestral property

4, legitimate but having right of inheritance limited to their parent's property only

g foae s = i s AT,
1, SHdEgsd
2, faftga
3, Sifafagd, @1 gdell @) 99kl Ul ®is SU®R ol sidl
4, faftrgwa, ot Saa g9 Fia1-udl a® diHd & 99 &l HU@R srl

[Question ID = 329][Question Description = 129_58_LAW_0OCT22_S2_Q29]
1. 1 [Option ID = 1313]
2. 2 [Option ID = 1314]
3. 3 [Option ID = 1315]
4. 4 [Option ID = 1316]



30) Restitution of conjugal rights has its genesis under the

1. Emglish law
2. Indian law
3. Jewish law
4, Swedish law

T USRI & TORE & s ol safies &
1. 3fter fafd
2. HRAg faiy
3. Igal fafe
4, wWiisw &y

[Question ID = 330][Question Description = 130_58_LAW_0OCT22_S2_Q30]
1. 1 [Option ID = 1317]
2. 2 [Option ID = 1318]
3. 3 [Option ID = 1319]
4. 4 [Option ID = 1320]

31) Among the Muslims, Sariri is the
stage:
1. when the bey cr the girl is below 10 years ef age
2. whenthe boay or the girl is above seven years but below fifteen years
3. when the bay or the girl is above fifteen years of age
4, when the bay or the girl is above 10 years ef age
R A e

1. 59 T8 41 98®| &) 39 10 4 4 -1d gidl &l

2. 9 TS Ul 00| ] 39 Ud 94 & HUY, T Uge a8 4 o aidl ol

3, e TSP U Os0| B 39 Use a4 § W el Bl

4, 59 Oo® 91 98®] P 9% 10 T4 § FH erl gl

[Question ID = 331][Question Description = 131_58_LAW_0OCT22_S2_Q31]
1. 1 [Option ID = 1321]
2. 2 [Option ID = 1322]
3. 3 [Option ID = 1323]
4. 4 [Option ID = 1324]

32) The law relating to armed conflicts of non-international character is governed by:

1. Common Article 3 of the Geneva Convention, 1949 or the Additional Protocol |,
1977

2, Comman Article 3 of the Geneva Conventien, 1948 or the Additional Prototol 1,
1977

3. Additional Protocols, | and 11, 1977

4, Only Additional Protocol |, 1977

TR-aR Py faiua A §0 9ue 3 Wefiia & o dieieia ar e e @ 7
1. SiHET SHEAT & Y 104 3 & HfdREd UIeie |, 1977 9
2, SiHd] HHEHD & FH STE0G @ SHldiNa Ui (1, 1977 9
3, HfdRa Wit | 3R 11, 1977 ¥
4, T Hfiverd Hietie |, 1977 9§

[Question ID = 332][Question Description = 132_58_LAW_0OCT22_S2_Q32]
1. 1 [Option ID = 1325]
2. 2 [Option ID = 1326]
3. 3 [Option ID = 1327]
4. 4 [Option ID = 1328]



33) Nottebohm's case deals with Nationality by

1. Naturalisation
2. Birth

3. Resumption
4, Subjugation

S AleaH AEe 9l ArRed § Saftd § 39@ HFER ArRedl WE &1 9k o
1. SEE
29H Y

3, R o
4, e g

[Question ID = 333][Question Description = 133_58_LAW_0OCT22_S2_Q33]
1. 1 [Option ID = 1329]
2. 2 [Option ID = 1330]
3. 3 [Option ID = 1331]
4. 4 [Option ID = 1332]

34) Which of the following doctrines is'called as Doctrine-of Non-recognition?

1. Estrada Doctrine
2, Hallestein Doctrine
3. Franco Doctrine

4, Stimson Doctrine

Fafafad 3 9 oF-91 e o[ & Haid & 99 9 94 96dl 6 2

1. BT fHaid

2. goifeeH sl
3. bl agia

4, R s

[Question ID = 334][Question Description = 134_58_LAW_0OCT22_S2_Q34]
1. 1 [Option ID = 1333]
2. 2 [Option ID = 1334]
3. 3 [Option ID = 1335]
4. 4 [Option ID = 1336]

35) Pactu Terties Nec Nocent Nec Prosunt means

1. Multilateral treaties prevail over bilateral treaties

2, Treaties are not binding in case of situations of emergency

3., Only parties'to an international treaty are bound by it

4, The right of innocent passage cannot be thwarted by bilateral treaties
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[Question ID = 335][Question Description = 135_58_LAW_0OCT22_S2_Q35]
1. 1 [Option ID = 1337]
2. 2 [Option ID = 1338]
3. 3 [Option ID = 1339]
4. 4 [Option ID = 1340]



36) "General principles of law recognized by civilized states, as a source of international
law has been applied in following case ;

1. Corfu Channel case

2, Asylum case

3, Mavrommiatis Palestine Concessions case
4, Reparations case
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[Question ID = 336][Question Description = 136_58_LAW_0OCT22_S2_Q36]
1. 1 [Option ID = 1341]
2. 2 [Option ID = 1342]
3. 3 [Option ID = 1343]
4. 4 [Option ID = 1344]

37) Which of the following is incorrect?

1. An agreement not enforceable by law iz zaid to be voidable

2. An agreement enfarceable by law is a contract

3. Every promise and every set of promises forming the consideration for each
gther is'an agreement

4, An agreement not enforceable by law is said to be void
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[Question ID = 337][Question Description = 137_58_LAW_0OCT22_S2_Q37]
1. 1 [Option ID = 1345]
2. 2 [Option ID = 1346]
3. 3 [Option ID = 1347]
4. 4 [Option ID = 1348]

38) Which of the following is false?

1.A contract is frustrated where the actual and specific subject matter of the
contract has ceased fo exist

2. A contract will frustrate where circumstances arise which make the performance
of the contract impossible in the manner contemplated

3. A contract which required personal performance by promisor is frustated on the
death of the promisor

4, Ceasing of subject matter of contract does not frustrate the contract
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[Question ID = 338][Question Description = 138_58_LAW_0OCT22_S2_Q38]
1. 1 [Option ID = 1349]
2. 2 [Option ID = 1350]
3. 3 [Option ID = 1351]
4. 4[Option ID = 1352]

39) Which one of the following is correct?

1. A public company can be formed with a minimum of nine persons

2. A private company can be formed with two or more persons

3. Memgcrandum of Association is not required for registration of a company
4, Articles of Association is not reguired for registration of a company
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[Question ID = 339][Question Description = 139_58_LAW_0OCT22_S2_Q39]

1. 1 [Option ID = 1353]

2. 2 [Option ID = 1354]

3. 3 [Option ID = 1355]
4. 4 [Option ID = 1356]

40) Given below are two statements, one is labelled as Assertion A and the other

is{abelied a5 Reason R

Assertion A: A master is liable for all tortious acts of his servanis done in the course

of employment

Reason R: The representatives of the dead person are, in certain cases, liable for the

acts of the deceased

In light of the above statements, choose the most appropriate answer from the

options given below

1. Both A and R are correct and R is the correct explanation of A

2, Both A and R are correct but R is NOT the correct explanation of A
3, A is correct but R is not correct

4. A is not correct but R is correct
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[Question ID = 340][Question Description = 140_58_LAW_0OCT22_S2_Q40]
1. 1 [Option ID = 1357]
2. 2 [Option ID = 1358]
3. 3 [Option ID = 1359]
4. 4 [Option ID = 1360]

41) The Competition Act, 2002, provides for which-of the following?
A, Establishment of a Commission to prevent practices having effecton competition
B. To promote and sustain competition in markets
C. To protect the interests of consumers
D. To ensure freedom of trade carried on by the other participants in the markets
E. To establish NCLT and NCLAT to decide various matters
Choose the correct answer froam the options given below;

1.A, B C DandE
2.8, Cand D only
3.C D and Eonly
4 A B CandDonly
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[Question ID = 341][Question Description = 141_58_LAW_OCT22_S2_Q41]
1. 1 [Option ID = 1361]



2. 2 [Option ID = 1362]
3. 3 [Option ID = 1363]
4. 4 [Option ID = 1364]

42)

Given below are two statements, one is labelled as Assertion A and the other
is{abelled a5 Reason R

Assertion A : The President of India is'a mere constitutional head

Reason R : [n the parliamentary form of government, the Prime Minister is the head
of government

In light ef the above statements; choose the correct answer from the options given
below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4, As false but Ris true
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[Question ID = 342][Question Description = 142_58_LAW_0OCT22_S2_Q42]
1. 1 [Option ID = 1365]
2. 2 [Option ID = 1366]
3. 3 [Option ID = 1367]
4. 4 [Option ID = 1368]

43)

Given below are two statements

Statement |: For judicial review, 'irrationality’ means that the decision is so
outrageous in lts defiance of logic or accepted mioral standards, that no sensible
person could have arrived at'such a decision

Statement lI: For judicial review, ‘Unreasenableness’ means either the facts do not
watrant the conclusion reached by the authority or the decision is partial and
unequal in its eperation

In light of the above statements, choose the most appropriate answer from the
options given below

. Both Statement | and Statement |l are correct
. Both Statement | and Statement |l are incorrect
. Statement | is correct but Statement || is incorrect

45 WM =

. Statement | is incorrect but Statement || is carrect
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[Question ID = 343][Question Description = 143_58_LAW_0OCT22_S2_Q43]
1. 1 [Option ID = 1369]
2. 2 [Option ID = 1370]
3. 3 [Option ID = 1371]
4. 4 [Option ID = 1372]

44) Given below are two statements

Statement I: The power of legislation carries with it the power o delegats and
unless the legislature has completely abdicated or effaced itself, there is no
restriction on delegation of legistative powers

Statement II: Parliament can abdicate or efface itself by creating a parallel
legislative bady

In light ef the above statements, choose the most appropriate answer from the

options given below

1, Both Statement | and Statement || are correct

2, Baoth Statement | and Statement || are incorrect
3, Statement | is correct but Statement | is incorrect
4, Statement | is incorrect but Statement |l is correct
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[Question ID = 344][Question Description = 144_58_LAW_OCT22_S2_Q44]

1. 1 [Option ID = 1373]
2. 2 [Option ID = 1374]
3. 3 [Option ID = 1375]
4. 4 [Option ID = 1376]
45) Given below are two statemants
Statement |; A contract which ceases to be enforceable by law becomes void when
it ceases to be enforceable
Statement II: An agreement in restraint of trade is voidable
In light of the above statements; choose the correct answer from the options given
below
1. Both Statemient | and Statemenit |l are true
2. Baoth Statement | and Statement || are false
3, Statement | s true but Statement |l is-false
4 Statement | is false but Statement [l is true
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[Question ID = 345][Question Description = 145_58_LAW_OCT22_S2_Q45]

AW N =

46)

1 [Option ID = 1377]
2 [Option ID = 1378]
3 [Option ID = 1379]
4 [Option ID = 1380]

Given below are two statements

Statement |: It is the duty of the Prime Minister to communicate to the President all
decisions of the Council of Ministers relating to the administration of the affairs of
the Union and proposals for legislations

Statement II: It is the duty of the Prime Minister to furnish such information relating
to-the administration of the affairs of the Union and propesals for legislation, as the
President may call for

In light of the above statements; choose the correct answer from the options given
below

. Both Statement | and Statement |l are true
. Both Statement | and Statement || are false
. Statement | is true but Statement |l is-false
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. Statement | is false but Statement [l is true



&YT | ; g8 UYHEE & oihd § f 99 & YR 9edl ol Ay o gl 9
Heiftg #hufves & g Fofal & ar F apefd 1 g e

®YA || : Tg VU @1 Gl & T WY & uneiie Amdl ud Ry e wl |
Haiftd CHl g7 TP g7 Fi S 0 0T o4

Swiad Syl & eie & Mgl fAee § & 98 3R @ 99 Bt

1.9YT I ARG I8

2. @Y | AR |1 G 2T 8

3, FYF | 9§, dle @Y || g 8
4 FYF | HEHE Oed ®Y 11 9I 8

[Question ID = 346][Question Description = 146_58_LAW_OCT22_S2_Q46]
1. 1 [Option ID = 1381]
2. 2 [Option ID = 1382]
3. 3 [Option ID = 1383]
4. 4 [Option ID = 1384]

47) Given below are two statements

Statement I: An appeal shall lie in the Supreme Court fromt any judgment, final

order or sentence in a criminal proceeding of a High Court in the territory of India, if

the High Court has on appeal reversed an order of acquittal of an accused person

and sentencad him to death

Statement II: An appeal shall lie in the Supreme Court frem any judgement, final

order or sentence in a criminal proceeding of a High Court in the territory of India, if

the High Court has withdrawn from {trial before itself any case from -any

court subordinate to its authority and has in such a trial convicted the accused

person and sentenced him to death

In light ef the above statements, choose the most appropriate answer from the

options given below

1, Both Statement | and Statemenit || are correct

2, Both Statement | and Statement |l are incorrect
3, Statement | is correct but Statement | is incorrect
4, Statement | is incorrect but Statement |l is correct
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[Question ID = 347][Question Description = 147_58_LAW_0OCT22_S2_Q47]
1. 1 [Option ID = 1385]
2. 2 [Option ID = 1386]
3. 3 [Option ID = 1387]
4. 4 [Option ID = 1388]

48) Given below are two statements

Statement I: Imperative law means "a concept of the rule of action impesed upon

men by some autherity which enforces obedience to it

Statement II: Natural law signifies the principles of natural right and wrong

In light of the above statements, choose the most appropriate answer from the

options given below

. Both Statement | and Statement |l are correct
. Both Statement | and Statement || are incorrect
. Statement | is correct but Statement Il is incorrect

J5 WM =

. Statement | is incorrect but Statement || is carrect

gl wyd fGua g ;
@Y | : HfHad &Y | $HaE © 9hS B Spedal @ UleHd UM $e drel [l
WIE®RI GR1 digad! B JHRIUd Prars gay] (a9 A 51

&Y || ElTe & aiie 9 4 98 3R 7T0d & [9Sidl Bl a8l o
IULad DYA| & AP H HHiidd lddmed] H 4 Gel GuR @ 9g4 DI ;

1.®Y9 | AR I SHT O &
2. FYF | AR I GFITEd 8
3, Y1 G8l &, dih HYA | TTad &
4,FYT | TTEd B, T YT 11 98l B

[Question ID = 348][Question Description = 148_58_LAW_0OCT22_S2_Q48]
1. 1 [Option ID = 1389]
2. 2 [Option ID = 1390]
3. 3 [Option ID = 1391]
4. 4 [Option ID = 1392]



49) Given below are two statements
Statement |: "All human beings are not legal persons”
Statement II: "State is a juristic person”

In light ef the above statements, choose the most appropriate answer from the
options given below

1. Both Statement | and Statemenit || are correct

2, Both Statement | and Statement || are incorrect
3, Statement | is correct but Statement || is incorrect
4, Statement | is incorrect but Statement |l is correct
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[Question ID = 349][Question Description = 149_58_LAW_0OCT22_S2_Q49]
1. 1 [Option ID = 1393]
2. 2 [Option ID = 1394]
3. 3 [Option ID = 1395]
4. 4 [Option ID = 1396]

50) Given below are two statements
Statement |: Holland defines ownership as ‘plenary control over an object
Statement II: Ownership is either vested or contingent

In light of the above statements, choose the most appropriate answer from the
options given below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement 1l are incorrect
3. Statement | is correct but Statement || is incorrect
4, Statement | s incorrect but Statement |l is correct
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[Question ID = 350][Question Description = 150_58_LAW_0OCT22_S2_Q50]
1. 1 [Option ID = 1397]
2. 2 [Option ID = 1398]
3. 3 [Option ID = 1399]
4. 4 [Option ID = 1400]

51) A, An agreement without consideration is a void contract
B, An agreement in restraint of marriage is a voidable contract
C. An unmeaning agreement is a void contract
D. Anagreement to do impossible acts is a voidable contract
E. An agreement in restraint of legal proceedings is a void contract
Choose the correct answer from the options given below;

1.4 and Canly
2.B and D only
3.A Cand E only
4 Eonly
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[Question ID = 351][Question Description = 151_58_LAW_0OCT22_S2_Q51]
1. 1 [Option ID = 1401]
2. 2 [Option ID = 1402]
3. 3 [Option ID = 1403]
4. 4 [Option ID = 1404]



52) A, Freedom of trade, commerce and intercourse is covered inArticle 301

B. Restrictions on legislative powers of the Union and States with regard to trade and

commerce are covered in Article 302

C. Power of Parliament to impose Restrictions on trade, commerce and intercourse is

covered in Article 302

D. Restrictions on trade, commerce and intercourse among states are covered in

Article 304

E. Appointment of authority for carrying out the purpeses of Article 307-304 is

enshrined in Article 306.
Choose the correct answer from the options given below;

1.4, Band Conly
2.8, Cand D only
3.A Cand Donly
4.8, D and Eonly
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4, FAAE, DARE

[Question ID = 352][Question Description = 152_58_LAW_0OCT22_S2_Q52]
1. 1 [Option ID = 1405]
2. 2 [Option ID = 1406]
3. 3 [Option ID = 1407]
4. 4 [Option ID = 1408]



53) A, Courts cannot review the question as to what "aid and advice” is given by the
Council of Ministries to the President

B. The question of "aid and advice” by the Council of Ministers is a justifiable issue

C. Article 14 cannot be invoked against discrimination made by constitutional
provisions

D. The guestion of "aid and advice” by the Council of Ministers is a non-justifiable
issue

E. Article 74 can be worked against discrimination made by constitutional provisions
Choose the correct answer froam the options given below;

1.4, Band Conly
2,A Cand Donly
3.B, Cand D only
4 C, DandEonly
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1. 6T A, B AR C
2.FEAA CARD
3, HaE B, C AR D
4, FaEC, DAHRE

[Question ID = 353][Question Description = 153_58_LAW_0OCT22_S2_Q53]
1. 1 [Option ID = 1409]
2. 2 [Option ID = 1410]
3. 3 [Option ID = 1411]
4. 4 [Option ID = 1412]

54) The institution of Ombudsman was first developed in

.India
UK
. France

d5 Lo -

. Sweden

HFgSHHA (AimuTe) BRI Uge aR HafaRad 58 & § @l [aoiad gofl ?
1, YRd
2.9®
3,
4 Hrsq



[Question ID = 354][Question Description = 154_58_LAW_0OCT22_S2_Q54]
1. 1 [Option ID = 1413]
2. 2 [Option ID = 1414]
3. 3 [Option ID = 1415]
4. 4 [Option ID = 1416]

55) A car was sold on 'as is’ basis and without any warranty or guarantee whatever. After
5 days of the contract, the engine of the car blew up. Discuss the liability of the

seller.

1. He is liable for the damages due to the doctrine of fundamental breach of

standard form of contract

2. The seller is not liable because the car was sold on ‘as is” basis and witheout any

warranty or guarantee
3. The buyer should take care if he buys a second-hand car

4, Under standard form coentract, in this case, contributory negligence is applicable

T BR 0 Y- & AR O o1 fdl aRd] smar el & a4 11| didal &
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forlEr 81
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[Question ID = 355][Question Description = 155_58_LAW_0OCT22_S2_Q55]
1. 1 [Option ID = 1417]
2. 2 [Option ID = 1418]
3. 3 [Option ID = 1419]
4. 4 [Option ID = 1420]

56) Match List | with List 1l

List | List Il

A. Theary of Justice |. David Hume

B. ldea of Justice 1. John Rowis
111, Amartya

C. Nicomachean Ethics Ty
Sen

0. An Enguiry Concerning the Principles o

quiry g P fiV. Artistotle

Morals

Choose the correct answer from the options given below:
TLA-LB-1,C-1lID-1IV
2ZA-,B-1,C-],D-IV
S.A-ILB=LC=1V, D=1
4A-ILB-LC-1Il, D-IV
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d e Tt fawed! & € Ge) 9o &1 99 P ;

TLA-LB-I,C=1ll, D-IV
2ZA-IL,B=ULC=I, D-IV
JA-ILB=ULC=IV, D-1
4A-1L,B-LC-1l, D-IV

[Question ID = 356][Question Description = 156_58_LAW_0OCT22_S2_Q56]
1. 1 [Option ID = 1421]
2. 2 [Option ID = 1422]
3. 3 [Option ID = 1423]
4. 4 [Option ID = 1424]

57) Given below are two statemenis, one is [abslled as Assertion A and the other
is{abelied a5 Reason R

Assertion A: Nothing is an offence which is done in the exercise of right of private
defence,

Reason R: 7 is carried off by a tiger. A fires at the tiger knowing that the shet may
kill Z, His shot gives Z a mortal wound. & has not committed any offence.

In light of the above statements; choose the correct answer from the options given
below

1. Both A and R are true and R is the correct explanation of A

2, Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4 Ais false but Ris true

Jd &l $Y= QU W § ; U HHBYA (Assertion A) T ©U H IEd & dl gaU 39D
@R (Reason R) %'ﬁ?ﬁqf{
AT A ; J0fga® 140 oq (o4 7 ANER & AT H $8 U SO0y el o)

TRUR:ZBISHIBI A ol TEF-d ge HI p Ac Y2 M TPl 6 A S |
R 011 396 Fic - Z B WUHEGE 9 fodl| A Bl 394 T8l 164l

Il YA & HEi® 4 Fgiied el H 4 981 3R &1 984 DI

1.4 3 RGHFT 81 § 3R R, A DI U8 AT 8

2.A SR RGFI Gl 8 W= R, A ®| Tel &0l 78l &
3 ATE e AR GG e B

4 ATR TRl gOPIR TRl B

[Question ID = 357][Question Description = 157_58_LAW_0OCT22_S2_Q57]
1. 1 [Option ID = 1425]
2. 2 [Option ID = 1426]
3. 3 [Option ID = 1427]



4. 4 [Option ID = 1428]

58) Arrange the following in chronclogical erder starting from earlier to later years:
A, The Trade Marks Act
B. The Patents Act
C. The Design Act
D, The Copyright Act
E. The Protection of Plant Varieties and Farmers’ Rights Act
Chouose the correct answer from the options given below

1.ABCDE
2B D AEC
3L.0,BACE
4 A B CED

e = enfye Hfifges a9 € seae Sf9H09- of 9 saeagr g
DI -
A. ¢SHID

B. Ude s

c. feams sffay

D. BIYRTgE gy

£, Urad s 3R T9% Af@R dRem AfHgn
i TqQ 1T faed| 5 4 Wg] SR o1 944 B ;

1.A, B CDE
2B D.AEC
3.0,B.ACE
4 A B CED

[Question ID = 358][Question Description = 158_58_LAW_0OCT22_S2_Q58]
1. 1 [Option ID = 1429]
2. 2 [Option ID = 1430]
3. 3 [Option ID = 1431]
4. 4 [Option ID = 1432]

59) National Commission for Backward Classss has besn greated through which
Amendment to the Constitution of India?

. 100" Amendment
. 107% Amendment
. 102" Amendment
. 103" Amendment

W -



HIRATE G & few deie gr1IeE Uest & S &1 e fear an
1,100 @1 GEE
2,101 @ GES
3,102 3f TES
4,103 of TES

[Question ID = 359][Question Description = 159_58_LAW_0OCT22_S2_Q59]
1. 1 [Option ID = 1433]
2. 2 [Option ID = 1434]
3. 3 [Option ID = 1435]
4. 4 [Option ID = 1436]

60) Under Article 338(5) of the Constitution of India, National Commission for Scheduled
Castes has:

1. the power to issue caste certificates

2. the power to revoke caste certificates

3. the power to decide validity of caste certificates

4.mo power to issue/revoke certificates and has no power to decide upon the

validity of caste certificates

YR WAYH & TG 338(5) & i, TP ST i S @ HER A
g
1. STd THOGE S B @1 HUER B
2. S1fd UHUIYE @ 18, B3 @1 SATUER gl
3. ST UHIU9E B a4l [8HYY B3 &1 HUEH &
4,9 1 S9F UrE Hld FHIUTE S 9R1 &, 18 $35 0] ANER & AR A 8] &g
THOTE B 4] [aH%8 5 @ Ao el

[Question ID = 360][Question Description = 160_58_LAW_0OCT22_S2_Q60]
1. 1 [Option ID = 1437]
2. 2 [Option ID = 1438]
3. 3 [Option ID = 1439]
4. 4 [Option ID = 1440]

61) Arrange the following Protocols/Declarations in the correct chronclogical sequence
A, Kyoto Protocol
B. Cartagena Protocol on Biosafety
C. Montreal Protocol
D. Nagoya Protocol
E. Rio Declaration on Ervironment and Development
Choose the correct answer from the options given below

JEABCD
EB CD A
ECAED
EDCEA

LD -



Fafeiad e / 9mods @] 9¢ iR Aid 60 ¢ @2l H o SoasH9aR 9ol o4
&1 90 DL ;
A, FE Hiei®id

B. Sig-fAfdd I BIcaH Uiekpia

c. HiFcad Hieimla

D. 4R Uieidic

£, gfaee 3R faers w el giyomes

i 74U 1T faded| | 4 He] ST o 944 Sl ;

JEABCD
EB CD A
ECABD
JED,CE A

B S % N R

[Question ID = 361][Question Description = 161_58_LAW_0OCT22_S2_Q61]
1. 1 [Option ID = 1441]
2. 2 [Option ID = 1442]
3. 3 [Option ID = 1443]
4. 4 [Option ID = 1444]

62) The National Green Tribunal Act, 2010 came into force on
1..10 May 2010

.18 August 2010

.10 December 2010

. 18 Octaber 2010

Ja LD g

AP R AU HiYfEs, 2010 T 94 fiea F amn
.10 535 2010

.18 3T 2010

.10 fiégsR 2010

.18 SEEE 2010

a0 -

[Question ID = 362][Question Description = 162_58_LAW_0OCT22_S2_Q62]
1. 1 [Option ID = 1445]
2. 2 [Option ID = 1446]
3. 3 [Option ID = 1447]
4. 4 [Option ID = 1448]



63) Read the following principles of the Rio Declaration on Environment and

Development (1992) and select the correct answer from the given options :

A, Principle 1 : Human beings are at the centre of concerns for sustainable

development

B. Principle 16 : In order to protect the environment, the precautionary approach

shall be widely applied by states according to their capabilities

C. Principle 14 ; Environmental [mpact Assessment..shall be undertaken for

proposed activities that are likely to have a significant adverse impact on the

environment

D. Principle 20 : Women have a vital role in environmental management and

developmient

E. Principle 24 : Peace, development and environmental protection are

interdependent and indivisible
Choose the correct answer from the options given below;

A and D anly
.B and Conly
.C and E only

da W -

.B and Eonly

TR 3R fAem el oo & Feafaa e o v
A g . T ST e s $3 5 &

8. Fgia-16 . ol g1 3O 4791 & SER U9l & WRe & o veiaand Surs
@1 G +Y O W fdar |

c. Togia-14 ; 39 waIfaa siea & 7 uofakia wHE &1 Jeaie fear ST,
fore wafgen R ufiea v4d 9e- @1 duE gl

D. firzia-20 ; afeensl &1 wofau vey= R fem @ e Teagyl Y 8
£, fogia-24 - ife, [Gomg SR gaiawuiiy Geam siqe-FeR aw e 2|
i fGu Tt Ayl 9§ § 981 31 &1 994 S

1.%a8 A AR D
2. FEABARC
3, &Had C ARE
4 FAABANE

[Question ID = 363][Question Description = 163_58_LAW_0OCT22_S2_Q63]
1. 1 [Option ID = 1449]
2. 2 [Option ID = 1450]
3. 3 [Option ID = 1451]
4. 4 [Option ID = 1452]



64) The word "Envirenment” has been defined under which of the section of the
Envircnment (Protection ) Act, 19867

. Section 2(a)
. Section 2(g)
.Section 2(d)
.Section 2(b)

da LW =

ToiERT (Eee) AfUFTE, 1926 F g Y & il unier weg @) uivyiftg
TFEH%:

1. 9RT -2 @

24N -2(3)

3, §IRT - 2 (EN)

4 /R - 2 (@)

[Question ID = 364][Question Description = 164_58_LAW_0OCT22_S2_Q64]
1. 1 [Option ID = 1453]
2. 2 [Option ID = 1454]
3. 3 [Option ID = 1455]
4. 4 [Option ID = 1456]

65) Match List | with List 11

List | List Il

A. Application of the Act to electronic cheque and truncated P
cheque

B. Electronic Signature Il. Sec. 81A
. Sacure electronic record Ill. S=c. 15
D. Validity of contracts formed through electronic means IV. Sec. 104

Choose the correct answer from the options given below:
TA-LB-1,C=1I,D-1V
2A-1,B-1,C-,D-1V
FA-0,B-1,C-1V,D-]1
4A-IVB-I,C-1II,D~-]

T -1 & 1Y G - B B B ;

il T -l
A.mﬁﬁ%ﬁﬁﬁm%ﬁ@nﬁmﬁlw P
ST YR -

B, ST TER ILYRT-18 ¢
C. ZOE IS AT UIE B 11, ¥RT - 15
D. SEGEI-ic HIEAl § B 713 HiaaT 1 Juar gf URT - 10

dia TG Tt fawed] & € Ge) 9o &1 99 P ;

TLA-LB-I,C=Ill, D-IV
2ZA-L,B=LC=ll, D-IV
JA-ILB=-LC=-IV, D-]lI
4A-IVB-I,C-1Il, D-1

[Question ID = 365][Question Description = 165_58_LAW_0OCT22_S2_Q65]
1. 1 [Option ID = 1457]
2. 2 [Option ID = 1458]
3. 3 [Option ID = 1459]



4. 4 [Option ID = 1460]

66) Match List | with List 1
List | List Il
A, Voluntarily causing grievous hurt by use of acid 1. 354-4A, |BC
B. Violuntarily throwing or attempting to throw acid I, 326-B, IPC
c Sexual harassment and punishment for sexual
111:354-D, IPC
harassment
D. Stalking V. 326-A, IPC
Choose the correct answer from the options given below:
T.A-IW,B-]l,C-1,D-]I
2ZA-M,B-1,C-N, D=1
3.A-I,B-I0,C-],D-IV
48 -, B-NI,C-],D-IV
Yl -1 & 1Y gl -1 B e Sifeg
LEl g -
A TS & WO §RT ool UR gUsld @i
l.354- A SME O
EZEII
B, TS woomdl o] YTl o ] 9919 BT |1, 326 - B, 315 Ui 4t
, . 354 - D, |
¢, gl o A aeligt B e i e
IV. 326 - A, o
D. T & 5 e

draRu Tt Aee | € Oo) 9o &1 997 PIelg :

TLA-IWB-ILC-I, D-1
2ZA-ILB-ILC=IV, D-I
FA-ILB-NIL,C=], D-IV
4A-ILB-ILC=I, D-IV

[Question ID = 366][Question Description = 166_58_LAW_0OCT22_S2_Q66]
1. 1 [Option ID = 1461]
2. 2 [Option ID = 1462]
3. 3 [Option ID = 1463]
4. 4 [Option ID = 1464]

67)

Match List | with List 11

List |

List

A, Soclomon v. Selemen

|. Voting rights

B. Royal British Bank v. Turguand

IIl. Corporate Personality

C. Ashbury Railway Carriage & lron v. Riche
(Ashbury)

1Il. Dectrine of Ultra Vires

D. Vedafene International Holdings v. USI

V. Doctrine of
Management

Indoor

Choose the correct answer from the options given below:

TA-IV,B-1,C-1l,D-1
2A-1B-1l,C-Il, D~V
FA-LB-ILC-I1,D-1V
4A-ILB-IV,C-1lIlLD-1




! -1 & 1Y G - B B B ;

T - -1l

A, B g4 FiesH I HaaH & HUER

B, J0q e 9% 999 gois |I. PRURE oHfdda

C. UTER] ¥eTd i USSR g R (e (1, e 3y Riaia
D. AISTH I SEHIHT sifce™ g8 12 V. STER wEe [aEid

d e e fawed! & € Ge) 9o &1 99 P ;

TLA-IVB=-ILC-Ill D=1
2ZA-LB-1,C=ll, D-IV
3A-LB-ILC-1, D-1IV
4A-1,B-,C-1I, D~1

[Question ID = 367][Question Description = 167_58_LAW_0OCT22_S2_Q67]

1. 1 [Option ID = 1465]
2. 2 [Option ID = 1466]
3. 3 [Option ID = 1467]
4. 4 [Option ID = 1468]

68) Match List | with List 11

List |

List Il

A, Judicial Review

I. Indira Gandhi v. Raj Narayan

B. Free and fair election

Il. Keshavanandha Bharati v, State of
Kerela

Constitution

. Balance between Part Ill and Part |V of the

11l, S:R, Bemmai v. Union of India

D. Secularism

V. Minerva Mills Ltd. v. Union of
India

Choose the correct answer from the options given below:

1TA-LB-ILC-IV,D-11
2A-ILB=-,C-I¥, D=1l
3A-IVB=1,C-1,D-11
4A-ILBE-N,C-1,D-1l

T -1 & 1Y G - B B B ;

T - = -1

A, 18® GARIGT 1. Sie i 5= e ARE
L Il BEAHE HIRdl §41H Ha

B. Wi SN Hwa g S

C. FE9UM & M- 3T HT-V & aE. THAR 99 8T 4RE

Hgei- il

D. §H s iv. foraf e 9 yRa 9"

dia fGu Tt fawed] & € Ge) 9o &1 99 P ;

TLA-LB-ILC-I, D~
2ZA-L,B=LC=IV, D-]l
JA-IVB-I,C-1I, D~
4.4 -1LB-IV,C-1, D~

[Question ID = 368][Question Description

=168_58_LAW_0OCT22_S2_Q68]



. 1 [Option ID = 1469]
2 [Option ID = 1470]
3 [Option ID = 1471]
4 [Option ID = 1472]

A wpN =

69) Match List | with List 1l

List | List Il

A, Doctrine  eof Pith  and|l. What cannot be done directly, cannct be done
Substance indirectly

B, Doctrine of Incidental|ll, The part of statute which is bad cannot be
Encroachment severed from the rest

. A law is not invalid even though trenchad

C. Doctrine of Severability L .
incidentally to another list

D. Doctrine of Colourable ) L
IV. True nature and character of the legislation

legislation

Choose the correct answer from the options given below:

1LA-LB-1,C=ll,D-IV
2ZA-IV,B=1,C-1,D-1l
S.A-N,B-ILC=IV,D-]
4A-IVB=-1l,C-1I,D-]

Yl -1 & H1Y Gl -1 BT HAH DIy ;
gl -| g -1l
A @AY HR IR [OEid). T ©Y E 9 fou aH g @l o)
(Slided 310 f0Y US Gegcy)  |HWde ©U ¥ a1 o 9o g
B, e sfiawHn gl |@fEf o1 as v, | gu e S99y
(STae i sfiSea aigHe) [0 g4 ¢l fodl o Todl ol |
. .. Bg off faftr sfafimg 2 va
C. U RiEd @lheeT 3w R S Sl |

Sl
D. fewradt faum fhsia (Sriae
31T Braiad dleeH) Iv. faur @t wel wpla o 2

dia feu Tt fawed] & € Ge) 9o &1 99 P ;

TLA-LB-I,C=1ll, D-IV
2ZA-IV B, C-1, D~
A-NLB=ILC=IV, D~
4A-IV,B-1I,C-1l,D~1

[Question ID = 369][Question Description = 169_58_LAW_0OCT22_S2_Q69]
1. 1 [Option ID = 1473]
2. 2 [Option ID = 1474]
3. 3 [Option ID = 1475]
4. 4 [Option ID = 1476]




70) Match List | with List 11

List | List Il
&, Post-Modermism . Grund Nerm
B, Seurce of Law 1l Ratio decidendi
C. Authority of a decision as a . .
_ 11l Critical Legal Studies
precedent
D. Analytical School IV. Volkgeist

Choose the correct answer from the options given below:
TLA-,B-IV,C-I,D-]
2A-WB-II,C-lI,D=1
SA-ILB-1LC=-1D-1V
4A-1,B-1,C-IV, D=1l

i -| &5 91y G -1| 1 e oiferg ;

T - T -1l

A, IE-SYFdarde 1. 3g 9

B, fafs @1 g 11, Rfrell FERrE=Sr

C. U@ Jddad) & €0 H AU @#TUaR (i, TeE-e® A HerH
D. fazcuTa® [GarRym V. BIaTE e (T AT

da e e fawed] & € Ge) 9o &1 99 P ;

TLA-NILE-IV,C-1, D-I
2ZA-IV B, C-1I, D=1
3A-ILB=-LC=l, D-IV
4A-LB-1,C-1IV, D-]l

[Question ID = 370][Question Description = 170_58_LAW_0OCT22_S2_Q70]
1. 1 [Option ID = 1477]
2. 2 [Option ID = 1478]
3. 3 [Option ID = 1479]
4. 4 [Option ID = 1480]

71) Greenhouse effect means ;

Increase in atmospheric temperature due to the concentration of greenhouse
1. gases in the atmosphere
2. Growing vegetables and flowers in increased temperature
3. Growing food crops in glass-houses-
4, Photosynthesis in plants grown in sunlight received in the glass house

BT TR T HT A § -
1. a0 & BRd 78 191 & Ybaul & PRy araiay araeaH | 3fg
2. 9¢ gU araE | gfeaa] ok el @l 3T
3, O E13Y & WY BHE! @] 3T
4, I BIGH | Ui @1 1% 94 & IRl § 3 gU Uil H We R Xy

[Question ID = 371][Question Description = 171_58_LAW_0OCT22_S2_Q71]
1. 1 [Option ID = 1481]
2. 2 [Option ID = 1482]
3. 3 [Option ID = 1483]
4. 4 [Option ID = 1484]



72) Match List | with List 11

List |

List Il

Provision

Section

A. Void marriage

I. Section 27, Hindu Marriage Act, 1955

B. Divorce by mutual consent

II. Section 24, Hindu Marriage Act, 1955

C. Maintenance pendente
lite

. Section 13 B, Hindu
Act. 1955

Marriage

D. Disposal of property

IV. Section 11, Hindu Marriage Act 1855

Choose the correct answer fram the options given below:

TA-LB-1ILC-IV,D-1l
Z2A-MB-ILC-1, B -
SA-NLB-ILE-LD-IV
AA-U,B-LC-I,D-1IV

Ul -1 & 1Y Gl -1 Bl HeE Sy ;

CEIERIEER]

Gl -1l 4RT

AT faaw

1. Te=g fadaTe wifafgm, 1955 1 9

-27

B, UREft@ geafa 4 faam-fawg

I feg faare sfufAgH, 1955 &
URI - 24

90T 77T

C. AIAT & TfSe §iH & TR HRU-

. B faw sfifay, 1955 @1
URT- 139

D. raR &1 FuErl

Iv. feg T afafmm, 1955 @1
§RT- 11

Jrr fou e fawedf & € U8 90 &1 99 Biwg

TA-LB-ILC-I, D=1
2ZA-IVB-,C-1l, D=1
3A-NLEB=-ILC=I D-IV
4A-1L,B=-LC=ll, D-IV

[Question ID = 372][Question Description = 172_58_LAW_0OCT22_S2_Q72]

1. 1 [Option ID = 1485]
2. 2 [Option ID = 1486]
3. 3 [Option ID = 1487]
4. 4 [Option ID = 1488]

73) Match List | with List Il

List | List I
A, Mersey Dock'e v. Procter I. Statutery Authority
B, Metropolitan lum District v,
, B P I, Vicarious liability

Hill

1. Inevitable
C. Nichels v: Marsland .

accident
O. Holmes v. Mather V. Act of Ged

Choose the correct answer from the options given below:

1L.A-ILB-[,C-1¥, D=1
2ZA-LB-ILC=],D-V
3A-1LB-1,C=Il,D- IV
4A-IVB-ILC-NL D-1




el -1 & "9 gl - P A Sife;

LEE gl -1l

A, T Si9 89 WigeT I, Fifafe® mims
B, e IRU-REY e & fad 11, Tafirs aane

C. @iy S AT e 111, S9REr gher
D. B 19 HIT Iv. adig &

i Tgu e fasped! § 9 5 IR B 997 il ;

1TL.A-ILB=1LC=IV, D-1I
2ZA-ILB-ILC=I, D-IV
3A-LB-I,C=1Il, D-IV
4A-IVB=1LC-1 D-1

[Question ID = 373][Question Description = 173_58_LAW_0CT22_S2_Q73]
1. 1 [Option ID = 1489]
2. 2 [Option ID = 1490]
3. 3 [Option ID = 1491]
4. 4 [Option ID = 1492]

74) Match List | with List 11

List | List Il

A, Bann Cenventian |. Protection of the Ozane layer

. } . Il. Control of transboundary movements of]
B. Vienna Canventiaon T ‘
hazardeus wastes and their disposal

lll. Conservation of migratory species of wild

C. Basel Convention .
animals

5 IV. Prior informed censent procedure for certain

. hazarduous chemicals  and pesticides in
Ratterdam Convention

international trade

Choose the correct answer from the options given below:

TL.A-ILB=-1,C=-IV, D=1
2ZA-0LEBE-1,C-1,D-1V
3A-IVB-ILC-1, D=1
4A8A-1,B-1,C-1I D~V



Yl -1 & "4 G 1| B e Sty ;

gl -| T -1l
A'ﬁ aﬁlﬁﬁﬁﬁﬂ?ﬁaﬁﬁ?ﬁm

B, o). Eae SR R 99 Fuer g4 diEuR
HgEY oo @ [=4gaT

C'ﬁ Eiq‘qﬁm. TS SaR] 1 Uaeld Taliadl &l SIem

D. EsH|V. AWPY AUR H DGUd Gawdld wWEA R
i @IEe] & T Gh - e o u

I feu e faed! & | Wl 9o &1 994 $Ie :

TLA-ILB=-LC-I, D-]I
2ZA-NLB=-1,C-1l, D-IV
JA-IVB=-ILC-1, D-]lI
4A-LB-1,C=l, D-IV

[Question ID = 374][Question Description = 174_58_LAW_0OCT22_S2_Q74]
1. 1 [Option ID = 1493]
2. 2 [Option ID = 1494]
3. 3 [Option ID = 1495]
4. 4 [Option ID = 1496]

75) Match List | with List Il

List | List Il

A, Ramsar Convention l. 1992
B, Convention on Biclogical Diversity 111994
C. Minamata Convention 1. 1991

0. The United Natieons Convention to combat

Desertification W2
Choose the correct answer from the options given below:
TLA-I,B-1,C-IV,D-I
2.A-1V,B=1,C-1lI, D~
SA-L,B-1,C=IV,D -1
48 -11,B-1,C=IV,D=IN
Yl -1 & H1Y Gl -1 BT HAH DIy ;
gl -| gl -l
A, THHR ST . 1992
B, Uig-fafayd W SiHeey I 1994
C. M s Iil. 1971
D. 3R ¥ €U & fog 94 Y e IV. 2013

T fou e [amed] & 9 9g) 9o ] 997 DIuid ;

TA-IL,E-ILC=1V, D-1
2ZA-WB-ILC-1I D-1
FA-IB-1,C-1V, D~
4A-ILB-1,C=1V, D=1

[Question ID = 375][Question Description = 175_58_LAW_0CT22_S2_Q75]
1. 1 [Option ID = 1497]
2. 2 [Option ID = 1498]



3. 3 [Option ID = 1499]
4. 4 [Option ID = 1500]

76) Arrange in chronological order the case laws pertaining to cruelty under the Hindu
Marriage Act, 1955 (year wise front beginning till the latest)

A, Durga Prasanna Tripathy v. Arundhati Tripathy

B. Bhagwat v. Bhagwat

C. Parveen Mehta v, Inderjeet Mehta

D. Swapan Kumar Das v. Maya Rani Dutta

E. Satendra Kumar Gupta v. Kanchan Gupta & Ors
Choose the correct answer from the options given below

1.8, CADE
2ACEDE
3.CDAERE
4D, CEBAE

feg fagre afifRgm, 1955 @ <fFla ool © U6 fafl & amal &f SeEaaR
(TRY Y THR FdaH aP 34-aR) aRUd Bite -

A T O Bt e S Bt

B, HITad &8 Yad

C. U¥diF Hgdl 89/ Saveid Hadl

D. S PAN GIF F-19 A1 1 &l

E. Yo% SHR ] &1 dd- @ Ud 34
I Tu e famedl & § e 99 @1 99 S ;

1.B,C A DE
2ACEBDE
3.CDABE
4D,CBAE

[Question ID = 376][Question Description = 176_58_LAW_0OCT22_S2_Q76]
1. 1 [Option ID = 1501]
2. 2 [Option ID = 1502]
3. 3 [Option ID = 1503]
4. 4 [Option ID = 1504]



77)  In case of theft under IPC, the following ingredients are necessary
A, Dishonest intention to take the property
B, The property can be movable or immovable
C. Property should be taken without the consent of the person
D. There must be some removal of the property
E, The property must be movable property
Choose the correct answer from the options given below;

1.A, B, Dand Conly
2.B,C, DandE only
3.A C DandE only
4 A B CandEonly

IS, & fevia &Y @R1) & JH0 H FEAREG H 3 HEY uee A9 6
A. it T @1 Y20 WET

B. Ty 91 91 34e & 9@l ¢

c. i @1 WeAfa & fo=1 g o o1 9ifeg

D. G © DY ot @I el S dlied

£, g, 9a 9o g =g

i feu ¢ fased| | § Hg1 SR &1 989 Sl ;

1. $aA, B DIARC
2, %a0E, C,DIRE
3, $aAA, C, DIARE
4 FAAA B CHRE

[Question ID = 377][Question Description = 177_58_LAW_0OCT22_S2_Q77]
1. 1 [Option ID = 1505]
2. 2 [Option ID = 1506]
3. 3 [Option ID = 1507]
4. 4 [Option ID = 1508]



78) The following is/are the exceptions to the principle of strict liability
A, Act of Ged
B. Consent of the plaintiff
C. Intention of the defendant
D. Act of third party
E, Minority
Choose the correct answer from the options given below;

1.A and B only
2. A Band D only
3.4 Cand Donly
4, B and Eonly

Frfefad § 9 o4 R cadisl @ faid & Judc ed & 7
A Cag @

B, JTal @ HgAld

C. Hfdard &7 gual

D. TR U8 BT BT

E, 3O

i feu ¢ fased| | § Hg1 SR &1 989 Sl ;

1. PaT A ARE
2. FHEAA BHRD
3, FHEAA CIHRD
4, FAABANE

[Question ID = 378][Question Description = 178_58_LAW_0OCT22_S2_Q78]
1. 1 [Option ID = 1509]
2. 2 [Option ID = 1510]
3. 3 [Option ID = 1511]
4. 4 [Option ID = 1512]



79) Which of the following are true with regard to the desertion of spouse under the
Hindu Marriage Act, 19557

A, Factum of Separation

B. Animus deserendl

C. Prescribed period-of 2 years must have passed biefore presentation of petition
D. With reasonable cause

E, Without the consent of the petitioner

Choose the correct answer from the options given below;

1.4, C DandE only
2.8, Cand D only
3.A B CandEonly
4 A Band Donly

fFafifad & § @i i faa sfiFaE, 1955 & of@ia ufd @1 ol & afimsA
@I d R A gel g ?

A, HEIEH TS HHUR

B, UfE SHSE (TS (@A) S50

C. U Uey &34 9 0d 2 a9 @1 iia 3y o 4 arfea

D. ggfaa RO Y
E, TifdTdd) ®1 9edid & &1
i fGu Tt Ayl 9§ § 981 31 &1 994 S

1. $a0A, C DIRE
2, FHad B, C AR D
3, FHaAAA, B, CHRE
4 FEAABARD

[Question ID = 379][Question Description = 179_58_LAW_0OCT22_S2_Q79]
1. 1 [Option ID = 1513]
2. 2 [Option ID = 1514]
3. 3 [Option ID = 1515]
4. 4 [Option ID = 1516]



80) Choose the correct chronolegical order of the emergence of the schoels of
Jurisprudence (earliestto the latest) :

A, Natural Law School, Histerical, Analytical Positivism, Realist
B. Histerical, Natural, Realist, Analytical Positivism

C. Analytical Positivism, Historical, Realist, Natural Law School
D. Realist, Historical, Analytical Positivisim, Natural Law School
E, Realist, Natural, Historical, Analytical Pasitivism

Choose the correct answer from the options given below;

. A only
. B only
. C only

5 WM -

D only
fal¥l Te @1 [TaRYRIS @& ey @ HHHER (4 § URY @3 g¢ AdiH0d d®)

YT B :
A, Eii® &Y Taryr teias, TuoEs seRIEHaG, JUrkaR!

B, Uiceiige, F8iiie, gyiard, FeeuuEs gaREadn
D. TUTare!, Ui, faemues SeRE@as, 1anid a1 [aaeRT
£, FUTHaTE], AT, Lasiad, ARuas gerasde
14 fau U fadedl | & W6 3ok o1 999 Bl ;
1.?@?1.&
2. FaEB

3, BT C
4, HIAD

[Question ID = 380][Question Description = 180_58_LAW_0CT22_S2_Q80]
1. 1 [Option ID = 1517]
2. 2 [Option ID = 1518]
3. 3 [Option ID = 1519]
4. 4 [Option ID = 1520]



81) Cheose the comrect chronological order of the jurists from the earliest to the |atest:
A, Austin, Bentham, Pound, Halmies
B. Bentham, Holmies, Austin, Pound
C, Bentham, Austin, Pound, Holmes
D. Holmes, Austin, Bentham, Pound
E, Bentham, Holmes, Pound, Austin
Choose the correct answer from the options given below;

1..B anly
2 Either AorB
3. C only
4 Eonly

U8 ¥ Y B §U AHGH 0o & AIHI9a] & Siwd & FUR Hel 4 Bl gig ;
A, 3fifeA, SuF, Uids, B

B. SiyH, B1, S, yrds
C. §uH, i, TS, B
D. &1, i, §uH, TS
E, SUH, B, UIG S, i
i oT e fasedl | 9 981 97 1 99 Sl ;

1. &aa B
2, ATIB
3,3%ad C
4, FHAAE

[Question ID = 381][Question Description = 181_58_LAW_0OCT22_S2_Q81]
1. 1 [Option ID = 1521]
2. 2 [Option ID = 1522]
3. 3 [Option ID = 1523]
4. 4 [Option ID = 1524]

82) The following can be appointed as the Chairperson of the National Human Rights
Commission (NHRC)

1. Only a person whe has been the Chief Justice of the Supreme court

2. A person who has been the Chief Justice of the Supreme court or a Judge of the
Supreme court

3. A person who has been the Chief Justice of a High court

4. A person who has been a Judge of the High court



fFrefeiad 4 € I90 AFEiUeR S107 (B O 3R 9)) F 348 o d) R 9 Fge
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[Question ID = 382][Question Description = 182_58_LAW_0OCT22_S2_Q82]
1. 1 [Option ID = 1525]
2. 2 [Option ID = 1526]
3. 3 [Option ID = 1527]
4. 4 [Option ID = 1528]

83) Select the right answer from the given options
A, COP 26 ; Glasgow Climate Change Conference
B. COP 25 : Lima Climate Change Conference
C. COP 24: Marrakesh Climate Change Conference
D. COP 22 : Katowice Climate Change Conference
E. COP 21 : Paris Climate Change Conference
Choose the correct answer from the options given below;

A and Eonly
.B and C only
.B and D only

da W =

.C and D only
Fafofed foepe § & 98l g It

A W, 26 : TERRT wear] URad- 9Eed
B, T, 25 ; i ioarg aikaa T

C. U131, 24 : ARG Woiary URad- GEeH

D. 1.3, 22 - FEIGNY Searg UadT g
E. °1.371.41. 21 - UE Siag URad Sar
i few e fased§ & & W] IR ol 98 S ;

1. $aT A ARE
2, FEAE AN C
3, FHEA B AR D
4,FaECIARD

[Question ID = 383][Question Description = 183_58_LAW_0OCT22_S2_Q83]
1. 1 [Option ID = 1529]
2. 2 [Option ID = 1530]
3. 3 [Option ID = 1531]
4. 4 [Option ID = 1532]



84) Given below are two statements, one is labelled as Assertion A and the other
is labelled as Reason R

Assertion A : 4 bigamous marriage is void under Hindu Law
Reason R : A child born out of void marriage is legitimate child of his parents

In light of the above statements; choose the correct answer from the options given
below

1. Both A and R are true and R is the correct explanation-of A

2. Both A and R are true but R is NOT the caorrect explanation of A
3. Ais true but R is false

4, Ais false but R is true

T &l Ty RE T € ; T HFY (Assertion A) & ¥9 1 G & ol g 39D
@R (Reason R) HEIH.
e A - o ofe & orarfa efeard Ree T B

@O R ; 99 (3418 9 307 9= A9 Ha1-10d] & 45 4dH o
Sulad B! & Heie 4 Fyifed fAea o 3 98 IR &1 909 DIt -

1.A AR REGATTH E AR R A P Ua] ARAT &

2, AARREATOH B, TiFTR, A T Hel AT TRl &
3 ATHE OPIRITT &

403 THE OPIRIA &

[Question ID = 384][Question Description = 184_58_LAW_0OCT22_S2_Q84]
1. 1 [Option ID = 1533]
2. 2 [Option ID = 1534]
3. 3 [Option ID = 1535]
4. 4 [Option ID = 1536]

85) Given below are two statements
Statement |: Personal rights are inheritable
Statement lI: Legal rights are recognized and enforced by law

In light ef the above statements, choose the most appropriate answer from the
options given below

. Both Statement | and Statement |l are correct
. Both Statement | and Statement |l are incorrect
.Statement | is correct but Statement Il is incorrect

J5 LD M -

. Statement | is incorrect but Statement || is correct



FYF - | AlGPId @R amdE g |

@Y - 1) ; [alD SUGR DI U2 AT« Ud aF] fad @ik g |
IULad DYA| & AP H HHlciaa [dbedl H o Hol 0% @1 98- DIee ;

1. ®YT | 3R 1 GF el gl
2. BT | 3R 1 G TEd
3, FYF I G B, did- @A || e B |
4, FYF | T9d &, i P4 || Gl B

[Question ID = 385][Question Description = 185_58_LAW_0OCT22_S2_Q85]

1.1
2.2
3.3
4. 4

86)

[Option ID = 1537]
[Option ID = 1538]
[Option ID = 1539]
[Option ID = 1540]

Given below are two statements, one is labelled as Assertion A and the other
is{abelled a5 Reason R

Assertion A : The ex post-facto laws are laws which veided and punished an act that
had been lawful when dene

Reason R : Imposing or increasing a penalty with retrospective affect for violation of
a taxing statute does not infringe Article 20{1)

In light of the above statements; choose the correct answer from the options given
below

1. Both A and R are true and R is the correct explanation of A

2. Both A and R are true but R is NOT the correct explanation of A
3. Ais true but R is false

4, Ais false but Ris true

I &l YA Ru U € ;. 0P fUFYT (Assertion A) & ¥ 4 [@d & 91 g9 39D
@R (Reason R) %'ﬁ?ﬁqﬂ,

HHHYT A ; FERR G 98 By 8 oo o9 oiia ot 99 & o9 9 oE @)
Hd IR Sisd BaT S8

BRI R : B OFIA aldd PHT & Iecid & fad Yo WHiE 4§ el 3aus @i
SHERIGT ST SYal 394 dia Bl HTa56 20(1) BT 3eeiad J6i ¢

SULET DYA| P TP H FHliad laded] H 4 Gel GoR & a4 B ;

1.A SR RGHI G818 SR R, A DI Ga| A 5

2.A SR RGFIGEl € W= R, A ®I Tel A 76l 5
3.A el o IR UGS 6l ol

4, AR T e W R TR B

[Question ID = 386][Question Description = 186_58_LAW_0OCT22_S2_Q86]

1.1
2.2
3.3
4. 4

[Option ID = 1541]
[Option ID = 1542]
[Option ID = 1543]
[Option ID = 1544]



87)

Given below are two statements

Statement I: A ‘negotiable instrument’ means a promissory note, bill of exchange ar
cheque payable either to order or to bearer

Statement II: Holder means any person who for consideration became the
possessof of a promissory note, bill of exchange or cheque, if payable to bearer or

the payee or endorsee

In light of the above statements, choose the most appropriate answer from the

options given below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement 1l are incorrect

3. Statement | is correct but Statement || is incorrect
4, Statement | s incorrect but Statement |l is correct

YT - | : U W forad &1 o o uifed A fRvm o de g o emm ar
E Pl eg el 8l

BYF - || ; 4RP B Y W 9F Aied 4 8, S Widwed @ e @ wiEed AT,
fafoa -9 31 9% @1 Sea 8 AT &1 &, 999 (6 YR, U gict 91 gifdl ol &
gl

SIwiad Syl & eie & M el 3 9 98 9 @ 99 S -
1.8 | 3R I GHT g 8

2. @Y | 3R || Sl 2EE B
3. HYF | G &, S YA || T B
4, HYF | EA g, Tl &YT || TH B

[Question ID = 387][Question Description = 187_58_LAW_0OCT22_S2_Q87]
1. 1 [Option ID = 1545]
2. 2 [Option ID = 1546]
3. 3 [Option ID = 1547]
4. 4 [Option ID = 1548]

88)

Given below are two statements

Statement I: A childless stepmother is entitled to daim maintenance under the
Hindu Adoption and Maintenance Act. 1956

Statement II: Under the Hindu Adoption and Maintenance Act. 1936, if the son is to
be adopted, the adoptive father or mether should not have a Hindu Son, Son's Son
or Son's Son's:Sen (whether by legitimate blood relationship eor by adsption) living
at the time of adoption

In light of the above statements, choose the most appropriate answer from the
options given below

1. Both Statement | and Statement |l are correct

2, Both Statement | and Statement |l are incorrect
3, Statement | is correct but Statement | is incorrect
4, Statement | s incorrect but Statement |l is correct



WY - | ; fog aa® AR HRU-UEY EFEE, 1956 @ AHld WP [HaE diddl |l
fraig-1e &1 aa] B3 B 6Par gl

HYF - || ; feg au® AR YRU-UNY AT, 1956 & Siaiid afa 93 &I Mg ol S
& ol ga® (91 31 911 @1 65 43, U7 1 U4, 93 & O &1 U7 (dle [Oeerg ad gay a1
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1. Y AR 1 GH Tl 8l
2. FYF | AR | GHI TEd 8 |
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[Question ID = 388][Question Description = 188_58_LAW_0OCT22_S2_Q88]
1. 1 [Option ID = 1549]
2. 2 [Option ID = 1550]
3. 3 [Option ID = 1551]
4. 4 [Option ID = 1552]

89) Given below are twa statements

Statement I; Every public company shall have at |least three directors and every

private company shall have at least two directors.

Statement lI: There can be a maximum of 15 directors and for having more than 15

directors, the company may pass a special resolution,

In light ef the above statements, choose the most appropriate answer from the

options given below

. Both Statement | and Statement |l are correct
. Both Statement | and Statement |l are incorrect
.Statement | is correct but Statement Il is incorrect

J5 LD M -

. Statement | is incorrect but Statement || is correct

YT - | : UGS FawHe HUHl H e dF Feg@ g R ude el $u
aH &l Heu® gl

&Y - || ; HGFHaH 15 FGTF 5l GPd & AN 15 9 S HoIHl B 3@ & (06 S|
U 99 URTE UTid & 9@l ol

Il BYA| & HEI® 4 FREieiad [l H 8 el 3T 1 99 Hie -

1.3 | AR 1 GHI T &)
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4, FYF | HEAEE, OoT o4 11 I8

[Question ID = 389][Question Description = 189_58_LAW_0OCT22_S2_Q89]
1. 1 [Option ID = 1553]
2. 2 [Option ID = 1554]
3. 3 [Option ID = 1555]
4. 4 [Option ID = 1556]



90)

Given below are two statements

Statement |: A becomes surety to C for B's conduct as a manager in C's bank
Afterwards, B and C contract, without A's congent that B's salary shall be raised and
that he shall become liable for one-fourth of the losses on overdrafts, B allows a
customer to overdraw and the bank loses a sum of money,

Statement II: A is liable to make good the loss as he is a:surety to C for B's conduct,

In light of the above statements, choose the most appropriate answer from the

options given below

1. Both Statement | and Statement |l are correct

2. Both Statement | and Statement 1l are incorrect

3. Statement | is correct but Statement || is incorrect
4, Statement | s incorrect but Statement |l is correct

HYS - | : Hl & &b H U JOuD & =4 H U, & P A=Y B o 6 B Hfe (FhiE)
01 & | §9% 91, U @1 HeHi @ (&7 41 3R O 9i5a $d ¢ [ & & a0 J 9ie B
S SR a8 SfaRgIUe WR &l & [od Th-aiuig Gril 611 & U Hie® & G
(TS YFRITRT ) Rl & 3R &® ] U Y01 @1 5l aial 8|

@Y - 1) TEIH @I Ufd & [c1t GRl & @4l dg o] o S0l & [ Ui @l UiaH &
Iulad Sy & HTE® J FHEiad [aeedl # 8 el 9t @1 9 DIl -

1.3y IR I I

2. BYT | 3R 1 G 2 B

3, FYF | 9§, dle @Y || g 8
4 FYF | HEHE Oed ®Y 11 9I 8

[Question ID = 390][Question Description = 190_58_LAW_0OCT22_S2_Q90]
1. 1 [Option ID = 1557]
2. 2 [Option ID = 1558]
3. 3 [Option ID = 1559]
4. 4 [Option ID = 1560]

Topic:- 58_PARTB_S2



1)

Read the given passage carefully and answer the questions that follow

The binding force of international law is based on the supreme fundamental norm
or principle known as Pacta sunt servanda. This means that agreements entered
into by States will be respected and followed by them in good faith. This is a well
established and recognised custom of international law, The customary principle of
international law has now been codified and finds mention in Artide 26 of the
Vienna Convention on the Law of Treatjes, 1969

The principle of Pacta sunt servando is also based on the actual practice of the
States. |t emphasises the importance of the agreement entered into by States and
regards them as the basis of international law.

There is a view that to assert the binding force of international law is based only on
the principle of Pacta sunt servanda is far from the truth, It fails to explain the
binding force of customary rules of intemnational law which are not based on
agreement between States. The realisation that intemational customary law does
not rest on agreements-and that the tenet, Pacte sunt servanda is itself a rule of
customary law, led to new formulations of the basic norm.

Kelsen has decided on a formula which takes into account usage, as the fact which
is the origin of the rules of international law - ‘States ought to behave as they have
customarily behaved'.

Which of the following is corret?

1. Paeta sunt servanda is an absolute principle

2. Pgct sunt servanda covers unequal treaties also

3. Pacta sunt servanda is niot an abiselute principle as it fails to explain the binding
force of eustomary tules of international law

4, Pgcta sunt servanda explains the binding force of customary rules of
international law
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[Question ID = 391][Question Description = 191_58_LAW_0CT22_S2_Q91]
1. 1 [Option ID = 1561]
2. 2 [Option ID = 1562]
3. 3 [Option ID = 1563]
4. 4 [Option ID = 1564]



2)

Read the given passage carefully and answer the questions that follow

The binding force of international law is based on the supreme fundamental norm
or principle known as Pacta sunt servanda. This means that agreements entered
into by States will be respected and followed by them in good faith. This is a well
established and recognised custom of international law, The customary principle of
international law has now been codified and finds mention in Artide 26 of the
Vienna Caonvention on the Law of Treaties, 1969

The principle of Pacta sunt servando is also based on the actual practice of the
States. |t emphasises the importance of the agreement enterad into by States and
regards them as the basis of international law.

There is a view that to assert the binding force of international law is based only on
the principle of Pacta sunt servanda is far from the truth, It fails to explain the
binding force of customary rules of intemnational law which are not based on
agreement between States. The realisation that intemational customary law does
not rest on agreements-and that the tenet, Pacte sunt servanda is itself a rule of
customary law, led to new formulations of the basic norm.

Kelsen has decided on a formula which takes into account usage, as the fact which
is the origin of the rules of international law - ‘States ought to behave as they have
customarily behaved'.

The cedification of Pacta sunt servgnda finds a mention in which Article of the
Vienna Convention-on the Law of Treaties, 19697

1. It does not find mention in the Vienna Convention on the Law of Treaties; 1969
2, Article 26

3. Article 2

4 Article 47
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[Question ID = 392][Question Description = 192_58_LAW_0CT22_S2_Q92]
1. 1 [Option ID = 1565]
2. 2 [Option ID = 1566]
3. 3 [Option ID = 1567]
4. 4 [Option ID = 1568]



3)

Read the given passage carefully and answer the questions that follow

The binding force of international law is based on the supreme fundamental norm
or principle known as Pocto sunt servanda. This means that agreements entered
into by States will be respected and followed by thent in good faith. This is a well
estahlished and recognised cusiom of international law, The customary principle of
international law has now been codified and finds mention in Articdle 26 of the
Vienna Canvention-on the Law of Treaties, 1959

The principle of Pacta sunt servando is also based on the actual practice of the
States. |t emphasises the importance of the agreement enterad into by States and
regards them as the basis of international law.

There is a view that to assert the binding force of international law is based only on
the principle of Pacta sunt servandg is far from the truth, It fails to explain the
binding force of customary rules of international law which are not based on
agreement between States. The realisation that international customary law does
not rest on agreements and that the tenet, Pacte sunt servanda is itself a rule of
customary law, led to new formulations of the basic norm.

Kelsen has decided on a formula which takes into account usage, as the fact which
is the origin of the rules of international law - 'States ought to behave as they have
customarily behaved',

The literal meaning of Pacta sunt servanda is

1. Pacts are zacred

2, Pacts are good servants

3, Pacts need not be observed

4, Agreements must be observed
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[Question ID = 393][Question Description = 193_58_LAW_0OCT22_S2_Q93]

AN w N -

1 [Option ID = 1569]
2 [Option ID = 1570]
3 [Option ID = 1571]
4 [Option ID = 1572]

4)

Read the given passage carefully and answer the questions that follow

The binding force of international law is based on the supreme fundamental norm
or principle known as Pacto sunt servaindo. This means that agreements entered
into by States will be respected and followed by them in good faith. This is a well
estahlished and recognised custom of international law, The customary principle of
international law has now been codified and finds mention in Aricle 26 of the
Vienna Caonvention on the Law of Treaties, 1969

The principle of Pacta sunt servands is also based on the actual practice of the
States. |t emphasises the importance of the agreement enterad into by States and
regards them as the basis of international law.

There is a view that to assert the binding force of international law is based only on
the principle of Pacte sunt servandg is far from the truth, It fails to explain the
binding force of customary rules of intemnational law which are not based on
agreement between States. The realisation that international customary law does
not rest on agreements-and that the tenet, Pacta sunt servanda is itself a rule of
customary law, led to new formulations of the basic norm.

Kelsen has decided on a formula which takes into account usage, as the fact which
is the origin of the rules of internaticnal law - 'States ought to behave as they have
customarily behaved',

To which docs the passage give primacy, Pacta sunt servande or the principles of
customary international law?

1. Pacta sunt servanda

2, Principles of custemary interpational law

3. Both Pacto sunt servanido and the principles of customary international law
4, Neither Pacta sunt servandd nor principles of customary international law
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5)

Read the given passage carefully and answer the questions that follow

The binding force of international law is based on the supreme fundamental norm
or principle known as Pacta sunt servanda. This means that agreements entered
into by States will be respected and followed by them in good faith. This is a well
established and recognised custom of international law, The customary principle of
international law has now been codified and finds mention in Artide 26 of the
Vienna Convention on the Law of Treatjes, 1969

The principle of Pacta sunt servando is also based on the actual practice of the
States. |t emphasises the importance of the agreement entered into by States and
regards them as the basis of international law.

There is a view that to assert the binding force of international law is based only on
the principle of Pacta sunt servanda is far from the truth, It fails to explain the
binding force of customary rules of intemnational law which are not based on
agreement between States. The realisation that intemational customary law does
not rest on agreements-and that the tenet, Pacte sunt servanda is itself a rule of
customary law, led to new formulations of the basic norm.

Kelsen has decided on a formula which takes into account usage, as the fact which
is the origin of the rules of international law - ‘States ought to behave as they have
customarily behaved'.

Kelsen focuses on

1. Primacy of Pacta sunt servanda

2. State behaviour being in conformity with custemary international law

3. Pacta sunt servanda being responsible for the growth of customary international
law

4, Pacta sunt servandg being independent of the prindples of customary
international law
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1)

Read the given passage carefully and answer the questions that follow

"In England justice goes to the people; in India the people had to come to justice
(The litigant) had to find his way to this strange tribunal in an unknown land as best
he could, in charge of the police, whose tender mercies he dreaded, oralone.

ff he went alone, it was not for long. Around the Courts were swarms of petty
lawyers whao had theirtouts on the roads and in the villages: Longer he came within
hail of the Court he had been fastened upon by several of these, and persuaded
that his only chance of success was to put himself in their hands; say what they
bade him; pay what, when, and to whom they told him; and above all, to beware of
telling the truth; it would never be believed,

In those strange cases there was no commion ground., What-ever one side asserted
that other denied; all the witnesses were tutored; and whether true or not to begin
with the case as presented on both sides was invariably concocted.

| for one came to the conclusion that nearly all, save a few of the graver cases, were
episodes in some dispute not before the Court. The parties were not the real
parties, but puppets of others, who remained in the back ground paying for and
directing the proceedings. Most of the genuine disputes never reached our Courts’
at all, but were settled at some earlier stage in other ways.

While we dispensed justice as best as we could to those who came before us, we
knew that an enormous number of injured persons never came ta us at all. Many
were deterred by difficulties in the way, many dared notcome for fear of offending
the local despot, who by threats of injuries - threats which he could carry out was
able to prevent them from complaining and to stop the mouths of their witness”

What are the challenges:-for a litigant to seek justice in India and England 7 Choose
the best option fram the following:

1. There are no challengss, The passage is silent about this.

2. There are many challenges that are difficult to summarise

3.In Emgland, justice goes to the people. In India, the litigant faces many
difficulties in approaching the strange tribunal to seek justice

4. The way to the tribunal is easy and the litigant in India need nor dread at all
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2)

Read the given passage carefully and answer the questions that follow

"In England justice goes to the people; in India the people had to come to justice
(The litigant) had to find his way to this strange tribunal in an unknown land as best
he could, in charge of the police, whose tender mercies he dreaded, oralone.

ff he went alone, it was not for long. Around the Courts were swarms of petty
lawyers whao had theirtouts on the roads and in the villages: Longer he came within
hail of the Court he had been fastened upon by several of these, and persuaded
that his only chance of success was to put himself in their hands; say what they
bade him; pay what, when, and to whom they told him; and above all, to beware of
telling the truth; it would never be believed,

In those strange cases there was no commion ground., What-ever one side asserted
that other denied; all the witnesses were tutored; and whether true or not to begin
with the case as presented on both sides was invariably concocted.

| for one came to the conclusion that nearly all, save a few of the graver cases, were
episodes in some dispute not before the Court. The parties were not the real
parties, but puppets of others, who remained in the back ground paying for and
directing the proceedings. Most of the genuine disputes never reached our Courts’
at all, but were settled at some earlier stage in other ways.

While we dispensed justice as best as we could to those who came before us, we
knew that an enormous number of injured persons never came ta us at all. Many
were deterred by difficulties in the way, many dared notcome for fear of offending
the local despot, who by threats of injuries - threats which he could carry out was
able to prevent them from complaining and to stop the mouths of their witness”

What are the chances of suiccess of any litigant? Choose the most appropriats

altsWer;

1. The chance of success work only if e puts the hands of petty lawyers and touts

2. He need not beware of telling the truth

3. Cases on both sides were usually not concoted

4. There were no difficulties and the injured person could approach the court
easily
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2. 2 [Option ID = 1586]
3. 3 [Option ID = 1587]
4. 4 [Option ID = 1588]



3)

Read the given passage carefully and answer the questions that follow

"In England justice goes to the peaple; in India the people had to come to justice
(The litigant) had to find his way to this strange tribunal in an unknown land as best
he could, in charge of the police, whose tender mercies he dreaded, oralone.

ff he went alone, it was not for long. Areund the Courts were swarms of petty
lawyers who had theirtouts on the roads and in the villages: Longer he came within
hail of the Court he had been fastened upon by several of these, and persuaded
that his only chance of success was to put himself in their hands; say what they
bade him; pay what, when, and to whom they told him; and above all, to beware of
telling the truth; it would never be believed,

In those strange cases there was no commion ground., What-ever one side asserted
that other denied; all the witnesses were tutored; and whether true or not to begin
with the case as presented on both sides was invariably concocted.

| for one came to the conclusion that nearly all, save a few of the graver cases, were
episodes in some dispute not before the Court. The parties were not the real
parties, but puppets of others, who remained in the back ground paying for and
directing the proceedings. Most of the genuine disputes never reached our Courts’
at all, but were settled at some earlier stage in other ways.

While we dispensed justice as best as we could to those who came before us, we
knew that an enormous number of injured persons never came ta us at all. Many
were deterred by difficulties in the way, many dared notcome for fear of offending
the local despot, who by threats of injuries - threats which he could carry out was
able to prevent them from complaining and to stop the mouths of their witness”

Whether, in the strange cases, there were any common grounds?

1. There was ne common ground
2, All grounds were common

3. Witnesses were not tutored

4 All witnesses were tutored
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4)

Read the given passage carefully and answer the questions that follow

"In England justice goes to the people; in India the people had to come to justice
(The litigant) had to find his way to this strange tribunal in an unknown land as best
he could, in charge of the police, whose tender mercies he dreaded, oralone.

ff he went alone, it was not for long. Around the Courts were swarms of petty
lawyers whao had theirtouts on the roads and in the villages: Longer he came within
hail of the Court he had been fastened upon by several of these, and persuaded
that his only chance of success was to put himself in their hands; say what they
bade him; pay what, when, and to whom they told him; and above all, to beware of
telling the truth; it would never be believed,

In those strange cases there was no commion ground., What-ever one side asserted
that other denied; all the witnesses were tutored; and whether true or not to begin
with the case as presented on both sides was invariably concocted.

| for one came to the conclusion that nearly all, save a few of the graver cases, were
episodes in some dispute not before the Court. The parties were not the real
parties, but puppets of others, who remained in the back ground paying for and
directing the proceedings. Most of the genuine disputes never reached our Courts’
at all, but were settled at some earlier stage in other ways.

While we dispensed justice as best as we could to those who came before us, we
knew that an enormous number of injured persons never came ta us at all. Many
were deterred by difficulties in the way, many dared notcome for fear of offending
the local despot, who by threats of injuries - threats which he could carry out was
able to prevent them from complaining and to stop the mouths of their witness”

In the passage, it is said that all the genuine disputes never reached the courts.

Cheose the comrect answer;

1. Most of the genuine disputes never reached the courts

2, Parties to the cases were not the real parties in many cases:
3, Many witniesses are not the real witnesses

4, Real parties were puppets of others and not.the real parties
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[Question ID = 399][Question Description = 199_58_LAW_0OCT22_S2_Q99]
1. 1 [Option ID = 1593]
2. 2 [Option ID = 1594]
3. 3 [Option ID = 1595]
4. 4 [Option ID = 1596]



5)

Read the given passage carefully and answer the questions that follow

"In England justice goes to the people; in India the people had to come to justice
(The litigant) had to find his way to this strange tribunal in an unknown land as best
he could, in charge of the police, whose tender mercies he dreaded, oralone.

ff he went alone, it was not for long. Around the Courts were swarms of petty
lawyers whao had theirtouts on the roads and in the villages: Longer he came within
hail of the Court he had been fastened upon by several of these, and persuaded
that his only chance of success was to put himself in their hands; say what they
bade him; pay what, when, and to whom they told him; and above all, to beware of
telling the truth; it would never be believed,

In those strange cases there was no commion ground., What-ever one side asserted
that other denied; all the witnesses were tutored; and whether true or not to begin
with the case as presented on both sides was invariably concocted.

| for one came to the conclusion that nearly all, save a few of the graver cases, were
episodes in some dispute not before the Court. The parties were not the real
parties, but puppets of others, who remained in the back ground paying for and
directing the proceedings. Most of the genuine disputes never reached our Courts’
at all, but were settled at some earlier stage in other ways.

While we dispensed justice as best as we could to those who came before us, we
knew that an enormous number of injured persons never came ta us at all. Many
were deterred by difficulties in the way, many dared notcome for fear of offending
the local despot, who by threats of injuries - threats which he could carry out was
able to prevent them from complaining and to stop the mouths of their witness”

Mary injured persons never came to the courts because of the following reason:

1. They were deterred by difficulties in the way
2. They had no interest

3. They were not sure to win

4, They could not arrange witnesses
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[Question ID = 400][Question Description = 200_58_LAW_0CT22_S2_Q100]
1. 1 [Option ID = 1597]
2. 2 [Option ID = 1598]
3. 3 [Option ID = 1599]
4. 4 [Option ID = 1600]

Topic:- 13_GP_SH1_S2_A



D The fﬁl]DWing table shows the percentage (%) of colleges

offering the four [T courses on Python, Java, Multimedia and
Al infour Indian States A-D, in a certain year, The table also
persents the percetage-wise distribution of the number of
Colleges in the four states. The total number of Colleges in
the four states is 4000. Based on the data in the table,
arnswer the guestions 71-3.

State-wise Percentage of Colleges offering IT Courses

State|% of Colleges offering % Distribution of
PythonlJava [Multimedialal  [Number of Colleges

A |86% |749%58 % 56 %35 %

B 0 % |92 %[82 % 54 %|15 %

C [T4% [88%|B4 % 86 26120 %

O |68% |64 %68 % 70.%30 %

The number of Colleges offering the Python course is more
than 460 in

1. All the four states

2. Only three states

3. Only two states’

4, Only one state



TR YR Il A-D H UBYHE, o1al, GeciHieql 3T T 315 |
IR T 21 BIY (UIe0®H ) HHE B didl Jelaeiadl @l
vierTiet {3 au & S8R gl diee 5 Haiid
& | afre & IR Usdl § Heifaenerdl o1 Ge &1 fgaeo o
Uiea-ar fem T B | IR Ul § Heifaaradl o o 9=
4000 3| A1fcreT & 68 78 3fies & SMYR W UY 1-5 BT 371
gifore -

T2 1 UTEUH ATHY HI aTe HEiSeTedl ®f Isaar
I B

TeTaEel @1 AR B &

“Uu% e @ SE @

SefgaRu

Hﬁﬂqwnﬁﬂmﬁmgﬂé

A 196 % (74959 % 56 % (35 %

B |80% [02%32% 34 9 |15 9%

C |[74% [88%84 % 36 % (20 %

D 68% |64%68 % 70 % 30 %
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[Question ID = 701][Question Description = 101_0_GP28_0CT22_52_Q01]
1 [Option ID = 2801]
2 [Option ID = 2802]
3 [Option ID = 2803]
4 [Option ID = 2804]

A wpN =



2) The ftﬁl]owing table shows the percentage (%) of colleges

offering the four [T courses on Python, Java, Multimedia and
Al infour Indian States A-D, in a certain year, The table also
persents the percetage-wise distribution of the number of
Colleges in the four states. The total number of Colleges in
the four states is 4000. Based on the data in the table,
arnswer the guestions 71-3.

State-wise Percentage of Colleges offering IT Courses

State|% of Colleges offering % Distribution of
PythonlJava [Multimedialal  [Number of Colleges

A |86% |749%58 % 56 %35 %

B 0 % |92 %[82 % 54 %|15 %

C [T4% [88%|B4 % 86 26120 %

O |68% |64 %68 % 70.%30 %

The total number of Colleges-offering Al in all the four
states is

1.2784

2.2816

3. 2864

4, 2552
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[Question ID = 702][Question Description = 102_0_GP28_0CT22_52_Q02]
1. 1 [Option ID = 2805]
2. 2 [Option ID = 2806]
3. 3 [Option ID = 2807]
4. 4 [Option ID = 2808]



3) The ftﬁl]owing table shows the percentage (%) of colleges

offering the four [T courses on Python, Java, Multimedia and
Al infour Indian States A-D, in a certain year, The table also
persents the percetage-wise distribution of the number of
Colleges in the four states. The total number of Colleges in
the four states is 4000. Based on the data in the table,
arnswer the guestions 71-3.

State-wise Percentage of Colleges offering IT Courses

State|% of Colleges offering % Distribution of
PythonlJava [Multimedialal  [Number of Colleges

A |86% |749%58 % 56 %35 %

B 0 % |92 %[82 % 54 %|15 %

C [T4% [88%|B4 % 86 26120 %

O |68% |64 %68 % 70.%30 %

if M and N represent the total number of Colleges offering
Python and Java, respectively, in all the four states, then M-
N=

1.64

2.96

3.48

4. 32



[Question ID = 703][Question Description = 103_0_GP28_0CT22_52_Q03]
. 1 [Option ID = 2809]

A wnN -
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A 186%: (74959 % 56 9% (35 %

B |80% [029%82 % 349 |15 9%

C |[74% (658 %[84 % 36 % (20 %

D 1689% |64%68% 70 % 130 %
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AeTfaered @ UE HA%: M RN & ¥ § Iqd @178
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1. 64

2.96

3.48

4,32

2 [Option ID = 2810]
3 [Option ID = 2811]
4 [Option ID = 2812]



4) The ftﬁl]owing table shows the percentage (%) of colleges

offering the four [T courses on Python, Java, Multimedia and
Al infour Indian States A-D, in a certain year, The table also
persents the percetage-wise distribution of the number of
Colleges in the four states. The total number of Colleges in
the four states is 4000. Based on the data in the table,
arnswer the guestions 71-3.

State-wise Percentage of Colleges offering IT Courses

State|% of Colleges offering % Distribution of
PythonlJava [Multimedialal  [Number of Colleges

A |86% |749%58 % 56 %35 %

B 0 % |92 %[82 % 54 %|15 %

C [T4% [88%|B4 % 86 26120 %

O |68% |64 %68 % 70.%30 %

Ratio of the number of Colleges offering Multimedia in
State C to that of State D is

1.2:3

2.11:13

3. 7417

4,13:16
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[Question ID = 704][Question Description = 104_0_GP28_0CT22_52_Q04]
1. 1 [Option ID = 2813]
2. 2 [Option ID = 2814]
3. 3 [Option ID = 2815]
4. 4 [Option ID = 2816]



%) The ftﬁl]owing table shows the percentage (%) of colleges

offering the four [T courses on Python, Java, Multimedia and
Al infour Indian States A-D, in a certain year, The table also
persents the percetage-wise distribution of the number of
Colleges in the four states. The total number of Colleges in
the four states is 4000. Based on the data in the table,
arnswer the guestions 71-3.

State-wise Percentage of Colleges offering IT Courses

State|% of Colleges offering % Distribution of
PythonlJava [Multimedialal  [Number of Colleges

A |86% |749%58 % 56 %35 %

B 0 % |92 %[82 % 54 %|15 %

C [T4% [88%|B4 % 86 26120 %

O |68% |64 %68 % 70.%30 %

Number of Colleges offering Java in State B is ----% of the
number of Colleges offering Al in State C,

1.78.15

2.8023

3. 82.25

4, 8452
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[Question ID = 705][Question Description = 105_0_GP28_0CT22_S2_Q05]
1. 1 [Option ID = 2817]
2. 2 [Option ID = 2818]
3. 3 [Option ID = 2819]
4. 4 [Option ID = 2820]

Topic:- 13_GP_SH1_S2_B
L Which of the following Developmental areas of individual
differences will be effected, if a Child opts for frequent out
bursts and throws tantrums?

1. Social

2. Mental

3. Emotional

4. Physical
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1. TS

2 JAFS

3, HaTTES

4. IRIRG

[Question ID = 706][Question Description = 106_0_GP28_0CT22_S2_Q06]
1. 1 [Option ID = 2821]
2. 2 [Option ID = 2822]
3. 3 [Option ID = 2823]
4. 4 [Option ID = 2824]

2) Which of the fellowing is outside the Teacher-
Centric Methed?

1. Demonstration

2. Team teaching

3. Inguiry approach

4, Lecture method

Fafotea ¥ 4 oF Ree-oisd A & srria 381 o &2
1. f35Em
2. 5a (E1H) e
3. S 3UFTH
4. g faiy

[Question ID = 707][Question Description = 107_0_GP28_0CT22_S2_Q07]
1. 1 [Option ID = 2825]
2. 2 [Option ID = 2826]
3. 3 [Option ID = 2827]
4. 4 [Option ID = 2828]

3) Which aspect indicates to be the most relevant in decision

miaking process according to Kohlberg's theory of moral
development 7

1. The age of the Child

2, Knowledge of Law

3. Influence of friends and Siblings

4. How the child arrives at Conclusion

Bigaat & ia® [GETE & GSid B JTaR o ufea
®IH-T1 U4 GaNu® WenTe o ®] AR SH1d Bl 87
1.5 3l A
2. B @1 I
3. i3l vd weie] @ UHE
4. 591 (o5 & Poaar &



[Question ID = 708][Question Description = 108_0_GP28_0CT22_52_Q08]
1. 1 [Option ID = 2829]
2. 2 [Option ID = 2830]
3. 3 [Option ID = 2831]
4. 4 [Option ID = 2832]

4) Which among the following are the MOOCs; Platforms 7

A. Google Mest
B, Coursera

C. Zoom

D. Future Learn
E. Turnitin

Choose the correct answer from the options given below,
1.A Dand E only
2.B, D and E ornly
3.B and D only
4. C and D only

T T 9 oH 4@ <o (49 §7
A TITE HIZ
B. BT
C. 9H
D. W @
E. TR
i ey e Aol S W1 IR 9 ;
1. 390 A DR E
2. %dd B, D AR E

3,?:?13561’1?13
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[Question ID = 709][Question Description = 109_0_GP28_0CT22_52_Q09]
1. 1 [Option ID = 2833]
2. 2 [Option ID = 2834]
3. 3 [Option ID = 2835]
4. 4 [Option ID = 2836]



%) Match List | with List 1l

List | List I

-Il_-ey::ns;:; Meaning

A. Factual I. This Learning is used to organize
Learning informatian in logical structure

B. Association |Il. This Learning is used to develop
Learning personality and think coherently

C. Conceptual |[lIl. This Learning is used to organize
Learning sequence of activities to achieve a goal
D. Procedural |1V, This Leaming is used to connect with
Learning information more deeply and accurately

Choose the correct answer fram the options given below:
TA-ILB-IV,E-,B-Ill
ZA-ILB-LC-NIlLB-IV
A-ILB-L,E-VD-1
4A-N,B-LC-IV,D-1

gl - -1l

A & PR |y

A THRD I, 56 HRITH &1 3TN g9 3 dlio® 9

HieH TiTiad @3 B fobg1 Sl 81
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[Question ID = 710][Question Description = 110_0_GP28_0CT22_52_Q10]
1. 1 [Option ID = 2837]
2. 2 [Option ID = 2838]
3. 3 [Option ID = 2839]
4. 4 [Option ID = 2840]



6) One of the aims of qualitative data analysis is to
1. Expand the Selected text or material
2. Analyse the researcher’s credentials
3. Describe a phenomenon
4. Focus on binary dissection

st P OIS AZATY & GaIT H 4 U & ;
1. T 916 41 Al &1 T9%aR ®RA]
2. TiE@diAl & UAd| B Gy @il
3, Tl oRua &1 avia &3
4, TgafToies fwsea U & Shiad

[Question ID = 711][Question Description = 111_0_GP28_0CT22_S2_Q11]
1. 1 [Option ID = 2841]
2. 2 [Option ID = 2842]
3. 3 [Option ID = 2843]
4. 4 [Option ID = 2844]

7) Virtual ethniography is Iccated ina/an

1. Natural environment
2. Technical environment
3. Political environment
4, Fconomic environment

ST T g GaR & URaN & Efd g 8
1. Fufi® oiay
2. HID] gRag
3. TeITa® aivae
4, 31T giam

[Question ID = 712][Question Description = 112_0_GP28_0CT22_52_Q12]
1. 1 [Option ID = 2845]
2. 2 [Option ID = 2846]
3. 3 [Option ID = 2847]
4. 4 [Option ID = 2848]



8 . . = i
) The major ethical aspects of survey based research are;

A, Protection of Participants from any kind of harm.
B. Publicise the engagement of participants

C. Distinguish between different Strata of People.
D. Not to affect individual Privacy,

E. Use individual Privacy for Private Profit,

Choose the correct answer from the options given below,
1.A Band Conly
2.B, Cand D only
3.A Cand Eonly
4. A and D only

A& e Ty & U AT0® Ued e ;

A, GEMIFT! &1 68l TSR ®I 5114 4 ST

B, GEHITT & Gl B alp oy &

C. Tl At &R & &g 3 H1

D. SHGHTH [Feidl @1 WHifad el He1
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4 FEAAARD

[Question ID = 713][Question Description = 113_0_GP28_0CT22_S2_Q13]
1. 1 [Option ID = 2849]
2. 2 [Option ID = 2850]
3. 3 [Option ID = 2851]
4. 4 [Option ID = 2852]



%) Which of the following are advantages of content analysis?

ftisa;

A, Transparent research method

B. Non- reactive method

C. Flexible method

D. Method that does not need a coding manual
E. Method that is free of any kind of framework

Choose the correct answer fram the options given below;
1.A Band Conly
2.B, Cand D only
3.C, Dand Eanly
4. A DandEonly

Pt # 4 - R o AR s oy g -
A, URGRI iy iafy

B. TR~ Wil ares wiay

C. T Tidfy

D. Uiy forgd ifeT g 1 S1awasd Tl &
E. vfafy i fordll v @ SUC@ G g §

id feu 71t fadedl 4 4§ el IR 91 -
1.HFAA BARC
2. %adAB, CHRD
3.PadC DANE
4, FadA DANE

[Question ID = 714][Question Description = 114_0_GP28_0CT22_S2_Q14]
1. 1 [Option ID = 2853]
2. 2 [Option ID = 2854]
3. 3 [Option ID = 2855]
4. 4 [Option ID = 2856]



10 .
) Given below are two statements

Statement |: Positivism Says that Sciences need not be
free from Speculative and metaphysical approaches

Statement ll: Positivism is Suitable for natural Sciences

In light of the above statements, choose the most
apprapriate answer from the optians given below
1. Both Statement | and Statement |l are correct
2. Both Statement | and Statement Il are incorrect
3. Statement | is correct but Statement || is incorrect
4. Statement | is incorrect but Statement Il is correct

FaciavAE RumeE:
Y - | : TUATE Badl & [0 195 Bl HTAHES AR
wHifaE =P € gad 5 B HaaHdl Tel o

TYF - || : UTHATE TPIaqH & S5a s

Iuld BYH| & HEie o Fieiad [l 3 ¥ uel 3w
ECE

1. 99T | 3R 1 SR T

2. @Y | R 1 G TEd & |

3.9y T e, g ey 1 TEd B |

4 Y| 3T 8, g o 1 T8 B

[Question ID = 715][Question Description = 115_0_GP28_0CT22_52_Q15]
1. 1 [Option ID = 2857]
2. 2 [Option ID = 2858]
3. 3 [Option ID = 2859]
4. 4 [Option ID = 2860]

11 d . ;
) Media messages consist of various layers of

1. Rationalisation

2, Complex resistance
3. Polymorphic meaning
4. Restrictive rituals

Hifsar et & Fafofea 2 @ fooe Rty wmd gidi & -
1. diga@ie
2. Wi iR
3. S50l Y
4, Oidide® FIEH

[Question ID = 716][Question Description = 116_0_GP28_0CT22_S2_Q16]
1. 1 [Option ID = 2861]
2. 2 [Option ID = 2862]
3. 3 [Option ID = 2863]
4. 4 [Option ID = 2864]



12 T ; :
) A source of Communicative inefficiency is

1. Desire for Personal gratification
2. Implications of familiar relations
3. Peer Pressure

4, Limited Knowledge

HHT & @1 Gid HHiad H 4 @ 9 e ?
1. ST SO B 38!
2. guRiad Seyl & Ffsad
3. YD B GaE
4, Hifgd 34

[Question ID = 717][Question Description = 117_0_GP28_0CT22_S2_Q17]
1. 1 [Option ID = 2865]
2. 2 [Option ID = 2866]
3. 3 [Option ID = 2867]
4. 4 [Option ID = 2868]

13) Which of the following are elements of congenial

classroony atmasphere?

A Creating a conducive atmosphere

B. Engaging in individual efforts

C. Supportive team work

D. Negotiable movemernit inside the classroom
E, Immersive listening

Choose the correct answer from the options given below,
1.4, B and Eonly
2.4 CandEonly
3.B, Cand D only
4.C, D and E only



fafafad 5 ¥ ®F | Hos o&T aaay @ 9d o7
A, T Qa1aeo @ a1

B, TfeaTTd HarEl & Iiad gl
C. ggarfidm ol
D. H& & Hic [AAag Maras

£, Fewad® sam

I fau e famadl 4 G Wel S 9 -
1. 990 A, B ARE
2. Fad A CHRE
3. %adA B CHRD
4 FaACDIANE

[Question ID = 718][Question Description = 118_0_GP28_0CT22_S2_Q18]
1. 1 [Option ID = 2869]
2. 2 [Option ID = 2870]
3. 3 [Option ID = 2871]
4. 4 [Option ID = 2872]

14) Which of the following can be categorised as non-verbal

communication?

A, Pleasant Voice

B, Postures

C. Gestures

D. Facial expressions

E. Viociferous greetings

Choose the correct answer from the options given below:,
1.4, Band Conly
2.8, Cand Eonly
3. C, D and E only
4.8, Cand D only



Fofofeg § 4 58 f-aos duyu o wu F dvftas feea
AIFAE 7

A, TR &R

B, HiE

C. Tba (FE9)
DY @l SiHeidl
E. SNGR g

Id fau Tt fagad! § 4 waife 3ugen 9o &1 997
Bt :

1. BT A, B IR C

2, FaE B CHRE

3.PadAC DIANE

4 FAAB, CHRD

[Question ID = 719][Question Description = 119_0_GP28_0CT22_S2_Q19]
1. 1 [Option ID = 2873]
2. 2 [Option ID = 2874]
3. 3 [Option ID = 2875]
4. 4 [Option ID = 2876]

1 5
%) Given below are two statements

Statement I: Most of the time, communication is loaded
with pewer value,

Statement II: Those who do not have the power of
gommuriication always seek to possess it,

In light of the above statements, choose the most
appropriate answer from the optiens given below
1. Both Statement | and Statement |l are correct
2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement || is incorrect
4, Statement | is incorrect but Statement |l is correct



Jaci Py U

HYT - | : AT YIS & 9y Ao 8 95 oS Ted
2

&Y - 1| ; fore gg diny S wiea g el e 4 ea 2g
sSfgEETaRd ol

e DYA| & HSI® H FHfciad el H 8 Uel 3w
o -

1. Y7 | AR || ST EE B

2. @Y | 3R 1 G e & |

3.0y Td e, g @y 1 Tad 8 |

4. Y| FHA T, g P 1| TET &

[Question ID = 720][Question Description = 120_0_GP28_0CT22_52_Q20]
1. 1 [Option ID = 2877]
2. 2 [Option ID = 2878]
3. 3 [Option ID = 2879]
4. 4 [Option ID = 2880]

16) One day a man left his home for a morning walk and went

12 km southwards. He then turned right and walked 8 km.
Again turned right and walked 12 km, turned left and
walked 10 km. How many Killometers the man has to-walk
to reach straight to his home?

22 km

18 km

20 km

24 km

P R PN

T o1 0P o Yoo &1 OR & 100 R 4 o 31X 12
foosl] Sf&mT &1 SR 71T 98 99 a1; alfe-l SR 491 AR 8
foell = | Us R 1 Tife- J31 IR 12 6 9ar he el
SR {1 3R 10 T4 =el| afda @I 9iF 30+ W Ygud &
fore fva Toaiie 9o g7

22 fepHf

18 fepeit

20 Tt

24 Tl

[ -

Bow

[Question ID = 721][Question Description = 121_0_GP28_0CT22_52_Q21]
1. 1 [Option ID = 2881]
2. 2 [Option ID = 2882]
3. 3 [Option ID = 2883]
4. 4[Option ID = 2884]



17 The price of a jewel, passing three hands, rises on the

whole by 65%. If the first and second sellers eamed 20%
and 25%: profit respectively, find percentage profit earned
by the third seller.

1.10%

2.15%

3.16%

4.12%

4! 1 @1 9oy, JiF [dearal § T[ed g¢ G9Yd: 65% 96
SIdl 81 9 Uy SR Tgai fadhal o SH: 20% 3R 25%
AT T 81aT &, @ gaid [desal g Hfsid afad oy 31
Bifon?

1.10%

2.15%

3.16%

412 %

[Question ID = 722][Question Description = 122_0_GP28_0CT22_52_Q22]
1. 1 [Option ID = 2885]
2. 2 [Option ID = 2886]
3. 3 [Option ID = 2887]
4. 4 [Option ID = 2888]

18) In an examination 42% students failed in Mathematics and

52 % failed in Science, If 17% failed in both the subjects,
find the Percentage of those Who Passed in both the
subjects,

1.23%

2.25%

3.27T%

4.30%

feoelt ol = 425 faamff 7o & ool 810 & ok s2%
G & ol 810 1 3fe 17 ot gt fauat 3§ sl
ST &, ol i [a9d] & Sl g ard faepiddl o uigwd
HIfey ;

1.23%

2.25%

3.27%

4.30%

[Question ID = 723][Question Description = 123_0_GP28_0CT22_52_Q23]
1. 1 [Option ID = 2889]
2. 2 [Option ID = 2890]
3. 3 [Option ID = 2891]
4. 4 [Option ID = 2892]



19) A 729 ml of a mixture contains milk arnd water in the ratio

of 7; 2. How much miore water is to be added to get a new
mixture containing milk and water in the ratio of 7 : 37
1.81ml
2.90ml
3.85ml
4.75ml

7% 729 el & Fyo d gu SR wa @1 U 7.2 8, 91 72
@ U1 H qY SR S o (Y9 Bl UIE & & (68 fda]
1. 81 fael
2. 90 el
3. 85 fH@l
4,75 Tt

[Question ID = 724][Question Description = 124_0_GP28_0CT22_52_Q24]
1. 1 [Option ID = 2893]
2. 2 [Option ID = 2894]
3. 3 [Option ID = 2895]
4. 4 [Option ID = 2896]

20) Find the next term in the series given below.

124, 148, 196, 268, 364, 7
1. 484
2. 584
3. 464
4. 268

= G1 773 S 5 e UG §id GBI ;
124, 148, 196, 268, 364, 7

1.484

2.584

3. 464

4, 268

[Question ID = 725][Question Description = 125_0_GP28_0CT22_52_Q25]
1. 1 [Option ID = 2897]
2. 2 [Option ID = 2898]
3. 3 [Option ID = 2899]
4. 4 [Option ID = 2900]



21) Which of the following statements are logically equivalent?

A NoPisS

B. Some S are non-P

C. Some non-P are not non-5
D.Some S are not P

Choose the correct answer from the options given below;
1.B and Conly
2.Cand D only
3.B, Cand D only
4 4B CandD

Feifrd s S oH 4 @y aib® ef 4 F9H &
A BIRPSTo edIel

B. PO STR-PE &
CPBIRPIRSTRI el gl

D.©®S PHsleld &

T f&u e faded § € 98] IR 9 ;
1. Haa B AR C

2. FEACHRD

3, Pad B, CHRD

4.4 8C3RD

[Question ID = 726][Question Description = 126_0_GP28_0CT22_S2_Q26]
1. 1 [Option ID = 2901]
2. 2 [Option ID = 2902]
3. 3 [Option ID = 2903]
4. 4 [Option ID = 2904]

22) "Considering the Speech given by the School Principal

taday, | would conclude that he is'net a good
Public Speaker.” Identify the informal fallacy committed in
the above argument.

1. Slippery Slope

2. Ad hominem

3. Appeal to force

4. Hasty Generalisation



T e & WEr gRI fol T8 4180 R R axd ge i
7g e FiaTel e 9 999 ol gaaT 98 & | Sude
TG # AT SFIBIRD e oIy B T iy ;

1. TR =i1Y

2. USEIEH

3. §0-318

4. @ A @

[Question ID = 727][Question Description = 127_0_GP28_0CT22_S2_Q27]
1. 1 [Option ID = 2905]
2. 2 [Option ID = 2906]
3. 3 [Option ID = 2907]
4. 4 [Option ID = 2908]

23) Which of the following is true regarding Inductive

argument?

1. if all the premises are true, the-conclusion must be
trise.

2.IT claims:to support its conclusion anly with some
degree of probability

3. It claims to Support its conclusion condusively

4. Conclusion is'completely contained already in the
premises

HTHATES Giad & a) H 1 91 &Y T8l 8 :

1. T% T HTUR 9199 9l & al [0y AFara: 98 8
el

2. 35 fred % TaYH @1 ga Baa ST @) 58
g s ol A gl

3. 394 Frey o wogef el @ a1 fea s g

4 9% e qofa: Ugd 9 € MU aren & Sfafay g
gl

[Question ID = 728][Question Description = 128_0_GP28_0CT22_S2_Q28]
1. 1 [Option ID = 2909]
2. 2 [Option ID = 2910]
3. 3 [Option ID = 2911]
4. 4 [Option ID = 2912]

24 - . i
) When inference is based not on causation but

on uniformity of co-existence, what is it called as per
Classical Indian School of Logic?

1. Kevalanvayi

2. Samianyatadrsta

5. Parvavat

4. Sef,avat



8 SH BH-BRU UG TR AU 7 5/ Ge-3iwa B
U@ T I AU Bl & ) d HROd 19 90 &
3FTHR F 941 B8l Sl & ?

1. SHaaaa

2. HHEFgAIEP

3. gdad

4. ¥9ad

[Question ID = 729][Question Description = 129_0_GP28_0CT22_S2_Q29]
1. 1 [Option ID = 2913]
2. 2 [Option ID = 2914]
3. 3 [Option ID = 2915]
4. 4 [Option ID = 2916]

25) Which of following is true regarding Classical Indian School

of Logic?

A, It isdeductive

B. It is inductive

C. It isformal

D. It is matenal

E, it always leads from universal to particular enly

Choose the correct answer from the options given below:
1.4, B Cand Donly
2.B and Conly
3. A and D anly
4 A B CDandE

Y10 IE T d@Hd & &R 4 Hgiied 3 8 @ 9@
Tele:
A T8 FTETES a8l

B. U8 HTHAIHD il 8

C. 98 IS el &

D. UE UG g g |

£, T8 Had U] WEU A a9y 1659 ©1 3R Ugd ol o

Id fou 71¢ fadedl 4 4 U6l IR 9 -
1. @GAA, B.CHRD

2. FAAB AN C

3. FATAARD

4.A B CDIRE

[Question ID = 730][Question Description = 130_0_GP28_0CT22_52_Q30]
1. 1 [Option ID = 2917]



2. 2 [Option ID = 2918]
3. 3 [Option ID = 2919]
4. 4 [Option ID = 2920]

26) MIDI is associated with the storage-of music files. MIDI is

an acronym for__
1. Musical Interactive Digital Interface
2, Musical Instructions Device Interpreter
3. Mask [terative Display Instance
4. Musical Instrument Digital Interface

TH 1S BT AR Tifa (i) gl & Yenu | g4
oH T 31 9 Meifea § 4 e Rt we ohadi o=t &
2. "l grac oY [SaIgH SeXhed
3. A% 3iciicg foud 3%y
4. FffSin e ggHe fefored geehd

[Question ID = 731][Question Description = 131_0_GP28_0CT22_52_Q31]
1. 1 [Option ID = 2921]
2. 2 [Option ID = 2922]
3. 3 [Option ID = 2923]
4. 4 [Option ID = 2924]



27)

Maohit has sent an email to Bobby, Danny and Ashok as
shown below;

From : Mohit@gmail.com
To : Bobby@gmail.com
Cc : Danny@gmail.com

Bec : Ashok@gmail.com

Subject : Important update

Dear

Colleague,

Please note that tormorrow’s meeting has been cancelled.
Regards-

Mohit

Which of the following statements is Correci?

1. Bobby and Danny are aware that Ashok received the
email

2. Danny is aware that Ashok and Bobby received the
email

3. Ashok is aware that Bobby and Danny received the
email

4. All recipients are ‘aware that the others received the
email.



Hifed 7 A<, T3 U5 P B 3 J6 Hiod (60 & od 59
PLATER T K

From: Mohit@gmail.com
To: Bobby@gmail.com

Cc Danny@gmail.com

Bec: Ashok@gmail.com

Subject: Impertant Update

Dear Colleague
Please note that tomorrow’s meeting has been cancelled
Regard

Mohit

T an-w ey Tel 8l
1. 418l SR 590 1 T € fob SfR1e @Bl 3-+¥e1 Wi &l T
2. %‘;ﬂﬁfﬁﬂﬁﬁﬂ? ity 37 Sl @l §-Hr WIed & T
3. z;ﬁaﬁm%ﬁ?éﬁﬁ R 41 @1 §-57 U 8l
a4, ziﬁ%mﬁhﬁm‘rm%ﬁ 3 gaft @ 5-ga U
T E

[Question ID = 732][Question Description = 132_0_GP28_0CT22_S2_Q32]
1. 1 [Option ID = 2925]
2. 2 [Option ID = 2926]
3. 3 [Option ID = 2927]
4. 4 [Option ID = 2928]

28) Which of the following are web search engines?

A. DuckDuckGo
B. Google

C. Yahoo search
D. Bing

E, Pinterest

Cheose the correct answer from the options given below:
1.8, Cand D only
2.4 B Cand Donly
3. B and Eonly
4. A C DandE only



FHiaRad 5 9 ®F 99 99 391 o7
ASHSH

B, TFTd
C. UIg I
D. &
E, fvw

I fau e famadl 4 G Wel S 9 -
1. &9 B, C AR D
2. FadA B CHRD
3. FadBIRE
4 FaAA C DIHRE

[Question ID = 733][Question Description = 133_0_GP28_0CT22_S2_Q33]
1. 1 [Option ID = 2929]
2. 2 [Option ID = 2930]
3. 3 [Option ID = 2931]
4. 4 [Option ID = 2932]

29)  \atch List | with List II

List | List I
(Statement) (Value)
4. The number of bits that make up a byte .5

B. Base - 10 (denary) value of the binary number;

1.8
001111

C. Number of minutes to upload a 75 megabyte I 18
file at 2 Megabits per second upload speed '

D. If there are 2° bytes in a Kilobyte then what is
the Value of P7

.15

Choose the correct answer from the options given below:
T.A-LB-ILC-1ILD-IV
2ZA-ILB-IV,E-|,D-1ll
A-NLB-IVC-1,D-1
A A-1LB-1L,C-M,D-1Il



e -1 1 -1l e B ;

|

U

A, {9y ®f 95 9] ey Ue 913 &l 6|

8. TESMHR 9= 001111 T 89- 10 @EE®) 59

C. 2 ifaey ufa Ydbe Hudis Wie R @y 75 AERe &
HEd b AUAIS & 8§ O ardd 5

D. 3f% U fhaiiaze H 2° S15¢H 8f <l P &1 d1F a1 shI?
7 feu U fdwedt © € 98 S I
1.A-LB-1,C-1I,D- IV

2A-WB-IV,C-1, D=l

3LA-NLB-IV,C-1,D-1l

4. A-1,B-1,C-VD-1I

[Question ID = 734][Question Description = 134_0_GP28_0CT22_52_Q34]
1. 1 [Option ID = 2933]
2. 2 [Option ID = 2934]
3. 3 [Option ID = 2935]
4. 4 [Option ID = 2936]

30 Given below are two statements

Statement I: ROM is temparary memory that can be
written to or read from and the contents of the memory
can be changed,

Statement ll: RAM is permanent memory that can only be
read from and contents of memory cannot be changed.

In light of the above statements, choose the most
appropriate answer from the options given below
1. Both Statement | and Statement |l are correet
2. Both Statement | and Statement |l are incorrect
3. Statement | is correct but Statement |l is incorrect
4. Statement | is incorrect but Statement |l is correct



i &l P R § SR 5EN & wed 1 -

YT - | : TH (ROM) ST TR & e R fae W 9aa 8
3R o IeT ol 9T & SN HERI @1 3iqde] @1 Ul
for a1 1 S g

TYT - 1| ; 3 (RAM) I 5 & Forgd &g Ugl o gl
& IR AN F1 3iTdw 3 ukefid ol fbu & 9Hd o

e BYA| & HGIH H FHfRad [adedl H 8 ¥al 3w
T -

1. WY | 3R |1 GHf Sel 8l

2.FYF | AR G TEd 8 |

3.8y 190 e, fFd ey 1 Tea 8 |

4. ®Y | G § , [ DY 1| Hal Bl

[Question ID = 735][Question Description = 135_0_GP28_0CT22_S2_Q35]
1. 1 [Option ID = 2937]
2. 2 [Option ID = 2938]
3. 3 [Option ID = 2939]
4. 4 [Option ID = 2940]

3 Given below are two statements

Statement |: Concentration of Volatile Organic Chemicals
is generally 100-1000 times higher in surface water than
underground water,

Statement |I: The most commen method of treatment of
Volatile Organic Chemicals is tc aerate them to
atmosphere.

I light of the above statements, choose the correct answer
from the options given below:

1. Both Statement | and Statement |l are true,

2. Both Statement | and Statement 1l are false.

3. Statement | is true but Statement |l is-false,

4. Statement | is false but Statement [l is true,



el ey BumE.

HY - | ; AR Bl WA B W YT 5 91
Y& W] oia 3 AR 100-1000 THT 3 Sl

HYF - || ; AT BleH® THEA & YT @ Ggiad
A B3fY 3= e | afad & 5l

Iuled YA & HEID 3 FEidiad [Geedl 3 Y Hel 9w
o -

1. 99T | 3R 1 SR T R

2. @Y | 3R 1 G e & |

3.0y Td e, g @y 1 Tad 8 |

4 T | AT, Bg I 1 TR B

[Question ID = 736][Question Description = 136_0_GP28_0CT22_52_Q36]
1. 1 [Option ID = 2941]
2. 2 [Option ID = 2942]
3. 3 [Option ID = 2943]
4. 4 [Option ID = 2944]

32) Pyrolysis-helps in addressing the Problem of

1. Air Pollution

2. Water Psllution

3. Municipal Solid Wastes-
4. Electronic Wastes

Ag-3gaed gy § ¥ v 99 & 9919E 5 98/l
Eﬂ?ﬁ%

1. A UGE0

2. 9e UG

3. R 31y smfRE

4 3oaclHe HARP

[Question ID = 737][Question Description = 137_0_GP28_0CT22_S2_Q37]
1. 1 [Option ID = 2945]
2. 2 [Option ID = 2946]
3. 3 [Option ID = 2947]
4. 4 [Option ID = 2948]

33) The period of Sendai framework for disaster risk reduction

is

.2015 -2030
. 2020 - 2040
.2015 -2025
.2020 - 2030

R O Y e



STIET AIRgH *HIHe0 oy Uols ©uxdl 31 3{afy
ICEIRITC R ATk

.2075 -2030

. 2020 - 2040

. 2015 - 2025

. 2020 - 2030

-

P v k]

[Question ID = 738][Question Description = 138_0_GP28_0CT22_52_Q38]
1. 1 [Option ID = 2949]
2. 2 [Option ID = 2950]
3. 3 [Option ID = 2951]
4. 4 [Option ID = 2952]

34 .
) Given below are two statements

Statement |: To address problem of climate change it is
essential for the world to have 'Net Zero'

carbon emissions by the year 2050.

Statement II: There is zero carbon emission associated
with-the production of gray-hydrogen.

In light of the above statements, choose the correct answer
from the options given below:

1. Both Statement | and Statement |l are true,

2. Bath Statement | and Statement |l are false.

3. Statement | is true but Statement |l is-false,

4, Statement | is false but Statement [l is true,

el ey BumE.

BY - | : Srag UNEE ®1 YAl & 9H1YH B, [9% P i
Tg 90T ¢ 19 g8 2050 O% Fad 4 TE S8eq &
T @I el B

HY - || : 0 DI Iodoi I BIEse ® Sdied & Oy
HeE

e PYA| & HSIH H FHfRad el H ¥ Wel 3w
T -

1. @Y | 3R 1 ST TR B

2. FYT | 3R 1 G e B

3.9 YT g0 8, fd Sy 1 T B |

4. ®YF | SEG © , (g DY 1| Hal &l

[Question ID = 739][Question Description = 139_0_GP28_0CT22_52_Q39]
1. 1 [Option ID = 2953]
2. 2 [Option ID = 2954]
3. 3 [Option ID = 2955]
4. 4 [Option ID = 2956]



35 .
) Given below are two statements

Statement |: Acute exposure to a chemical is a long
term continuous exposure by that chemical

Statement II: Chronic exposure to a chemical is a short
term expoasure to that chemical

In light of the above statements, choose the most
apprapriate answer from the optiens given below
1. Both Statement | and Statement |l are correct
2. Both Statement | and Statemerit || are incorrect
3. Statement | is correct but Statement |l is incorrect
4. Statement | is incorrect but Statement |l is correct

Tasiar U E:
HY - | ; Tl T @7 o8t IRTeH 39 TEH BRI BH
T SEBIe® Fod SEE

YT - 11 ; mﬁmﬁﬁmﬁa 35194 OY THITH &)
Heu@mlod 3ee3 6|

e BYA] & HSH H FHfRad el H 8 Uel 3w
T -

1. WY | 3R |1 G Dol gl

2. YT | 3R | G e g |

13y g, A e I a8 |

4. ®YT | GG &, [bq YA 1| 8l 81

[Question ID = 740][Question Description = 140_0_GP28_0CT22_52_Q40]
1. 1 [Option ID = 2957]
2. 2 [Option ID = 2958]
3. 3 [Option ID = 2959]
4. 4 [Option ID = 2960]

36) Community Colleges are supposed to offer courses that

are a mix of
1. Fing Arts and Life Skills
2. School and College Education
3. Technical and Traditional Skills
4. Knowledge, Technical and Soft Skills

Traihe Aeliaarel g1 Rufeied usgear & T a g
o ygm o1 e B T 8 7

1. Afca @ 3R Sie S

2. [aereig SR Arefagrey fan

3. APIB1 AR TRUNS DIEE

4, §H, THAID1 AR 75 DN




[Question ID = 741][Question Description = 141_0_GP28_0CT22_52_Q41]
1. 1 [Option ID = 2961]
2. 2 [Option ID = 2962]
3. 3 [Option ID = 2963]
4. 4 [Option ID = 2964]

37 The major terms of reference for the National Knowledge
Commission were

A, Challenge developed countries in Knowledge creation
B. Westernise the Indian educational system

C. Promote creation of Knowledge in science and
technology laboratories

D. Promote Knowledge applications in agriculture and
industry

E, Build excellence in education system to meet the
challenges of the twenty-first century

Choose the correct answer fram the options given below;
1.4, Band Conly
2.B, Cand D only
3.C Dand Eonly
4.4 BandEanly

1P T ST & Y [Gar e Fafifaa H e g
q:
AT o & &7 1 Sl 531 & gl o
B, YReTg RI&T Uegicl @1 WIS
c. fag we dieliffte] warmEasd | 9 94 @1 dided
D. H1Y Td IR & &7 H 11 VAR & Ui
E. 300 19d] Gal ®1 gAlag! B GiHA] B & (a8 1151 S
H Iepwa &l i
d fau 71C fadedl 4 4 el IR 91 :

1. BaA A BARC

2. ®au B, CHRD

3. ®99C, D HNE
4 HIAA B IARE

[Question ID = 742][Question Description = 142_0_GP28_0CT22_S2_Q42]
1. 1 [Option ID = 2965]
2. 2 [Option ID = 2966]
3. 3 [Option ID = 2967]
4. 4 [Option ID = 2968]



38) The acrenym "SANKALP', introduced by the Ministry of Skill

Development and Entrepreneurship, stands for ;-
1. Skill Awareness and Knowledge Assessment of
Livelihdod Promdtion
2. skill Addition and Knowledge Assessment of
Livelihcod Promation
3. Skill Acquisition and Knowledge Awareness of
Livelihcod Promation
4. Skill Attainment and Knowledge Awareness of
Livelihgod Promation

I TU U & U va Ot i ¥ feue dRm wu
THEH
2. e w8t U s siwde HfE fSaciigs waeH
3. Fpa ufedie U Aie dg e fadigs
THERA
4, Tope SEHHE US Ao 909 3P [auiEs
JHEH

[Question ID = 743][Question Description = 143_0_GP28_0CT22_S2_Q43]
1. 1 [Option ID = 2969]
2. 2 [Option ID = 2970]
3. 3 [Option ID = 2971]
4. 4 [Option ID = 2972]

39) Where is Chanzkya said to have composed his

Arthashastra 7
1. Sarnatha
2. Takshashila
3. Nalanida
4, Vikramshila

0 SRR @) =99 @el @) 4
1. FTATY
2, dEREn
3. 9refar
4, fasaren

[Question ID = 744][Question Description = 144_0_GP28_0CT22_S2_Q44]
1. 1 [Option ID = 2973]
2. 2 [Option ID = 2974]
3. 3 [Option ID = 2975]
4. 4 [Option ID = 2976]



40) Match List | with List 11

List | List 1l
Name of the : .

. Domain and Subject Matter
Subject

~ I. Agriculture, trade, commerce, animal
A, Kavya )

husbandry

B. Aniviksiki Il. Etymiology
C. Varta IIl. Logic
D. Ntrukta IV. Imaginative and creative literature

Choose the correct answer from the options given below:
TA-ILB-ULE-IV,D-|
2ZA-IVB-NILC-1,D-1
FA-NB-IVC-Il,D-1
AA-ILB-IV,C-,D -1l

Tl - @] gl -1 e DI ;

CER =l -1l

T &1 T &7 AR fawgagg

A BT |. B, YR, I, TIUeH

B. S{difafs] I1. Fs5; ST A

C. @t 111 TEB R

D. e V. FEATED AR GoTEE 9ied
4 fer e fdwedt © © W eI

TA-ILB-ULE-IV,B -]
ZA-IVB-NILC-L,D-1
SSA-ILB-IMC-I,B -
4 A-ILB-IVMC-[,D-Ill

[Question ID = 745][Question Description = 145_0_GP28_0CT22_S2_Q45]
1. 1 [Option ID = 2977]
2. 2 [Option ID = 2978]
3. 3 [Option ID = 2979]
4. 4 [Option ID = 2980]

Topic:- 13_GP_SH1_S2_C



Read the following passage and answer questions 46 to
50:

Gandhi's:speech in Banaras in February 1916 was, atone
level, merely a statement of fact namely, that Indian
nationalism was an elite phenomenon, a creation of lawyers
and doctors and landlords, But, at another level, it was a
statemnent of intent-the first public announcement of the
returning expatriate’s own desire to make [ndian
nationalism more properly representative of the Indian
people. In the last month of that year, Gandhi was
presented with an opportunity to put his precepts into
practice, At a meeting held in Lucknew in December 1916,
he was approached by a peasant from Champaran in Bihar,
The peasant told him about the harsh treatment of peasants
by British Indigo planters, Gandhi was te spend most of
1917 in Champaran, He was seeking to obtain for the
peasants security of tenure as well as the freedom to
cultivate the crops of their chaice. In 1918, Gandhiwas
involved in two campaigns in his‘home State of Gujarat.
First, he intervened in a labor dispute in Ahmedabad to
better the conditions of textile mill workers. Then he joined
peasants in Kheda for remission of taxes on peasants
following the failure of their harvest. These initiatives
marked Gandhi as a nationalist with sympathy for the poor.
These were loral struggles, During the World War |, the
British had instituted press censorship and permitted
detention without trial. The Rowlatt commities
recommended the continuation of these tough measures,
Gandhiji's call for a countrywide campaign brought life to
standstill in north and west India.

Which was the Statement of fact in the Speech of
Mahatma Gandhi at Banaras?
1. Lawyers, doctors and landlords sided with the British.
2. The Indian nationalism was elitist
3. Nationalism was of another level in India
4. The existing Indian nationalism was highly effective



ferafafad Terw #7 ufed ofiT 46 T 50 TF LT F I
gifere ;

B 1916 § &G H T4 &1 HIHU U6 w1 W ag B
T o, ST YR Apare U Sid givaen 4, foreH
FHI, Mipwmm] AR YA ® gied YrieR 4| g,
T TR R U8 38 1 @] Sy uT g TF dedd o
q1e] Tt eaide] B WA APATE Bl A B GepE
51 Gad] gy @) i a1t 35 yRdig ar &7 8T
e ggfaa wiafifia 8 9% | 99 o & Jifam g md =
@I 30 Hiiq A ® FdeR &4 ¥ URad Y- & §HIE
U 311 fGHaR 1916 § G@ H HiTad 96 H (98X &
U & feraEl 3 oY Hud wiftd | et R o
fafew ia @1 ©al - aial & -6 oIgeR & i J ga/dl
4T | T S P gy 1917 H AUAT U@y §9Y 9uRA | ol
I &) 981 411 4 ! & e srdara & Rl &
IY-TIY I gR1 AU GG &1 Ba FTH S Woad &
AT ER e §1 99 1918 F T ST 307 TeAnd ToRe o

ol sfaiem 5 2T 50 9auuE 3o $uel Ha & SIRI
@] BCY d8aT B4 B 10U SEHTEIG J %4 faar §
EEIAY {3501 | TOHT YT 941G 8- & 15 [puHl IR
HEORIYT 41 @ AT%] 5 U 8 &M ard g SiaieH &
YT T | 39 SRTe Sl & 9y ey il o kil &
Uil 187 GerYf T8 91 Uparel © 39 7 UgeH o o |
T T R U 4| nyHE Y 3 @ S ol 4 T TR
Udal TS SR ST oE & o) AeRas 180 aH $1 HTHd
A |

e B A 37 FeR AFE] S GR1 TG B [Hm1E B
| 7TE] S R STl Mgl 9eH & HEF & SR
I AR UiEE YRd H dvd P 1edfd I sl |

SIRY H Al i & WIee &1 qwW $ud FEkiiEd J 9
@I | U
1. gopidl, el SR yEaniaal - Sfsi o1 ug fomr
2. HIRel1G AAFATE HiTaral 4l
3. YIRS # AFAIG 30 TR P Ul
4. TaEr HRTE aTG Sid gHTE! ol

[Question ID = 746][Question Description = 146_0_GP28_0CT22_S2_Q46]
1. 1 [Option ID = 2981]
2. 2 [Option ID = 2982]
3. 3 [Option ID = 2983]
4. 4 [Option ID = 2984]



2)

Read the following passage and answer questions 46 to
50:

Gandhi's:speech in Banaras in February 1916 was, atone
level, merely a statement of fact namely, that Indian
nationalism was an elite phenomenon, a creation of lawyers
and doctors and landlords, But, at another level, it was a
statemnent of intent-the first public announcement of the
returning expatriate’s own desire to make [ndian
nationalism more properly representative of the Indian
people. In the last month of that year, Gandhi was
presented with an opportunity to put his precepts into
practice, At a meeting held in Lucknew in December 1916,
he was approached by a peasant from Champaran in Bihar,
The peasant told him about the harsh treatment of peasants
by British Indigo planters, Gandhi was te spend most of
1917 in Champaran, He was seeking to obtain for the
peasants security of tenure as well as the freedom to
cultivate the crops of their chaice. In 1918, Gandhiwas
involved in two campaigns in his‘home State of Gujarat.
First, he intervened in a labor dispute in Ahmedabad to
better the conditions of textile mill workers. Then he joined
peasants in Kheda for remission of taxes on peasants
following the failure of their harvest. These initiatives
marked Gandhi as a nationalist with sympathy for the poor.
These were loral struggles, During the World War |, the
British had instituted press censorship and permitted
detention without trial. The Rowlatt commities
recommended the continuation of these tough measures,
Gandhiji's call for a countrywide campaign brought life to
standstill in north and west India.

Gandhiji's speech expressed the intention of

1. Making Indian nationalism mere representative

2. Announcing the desire of expatriates to become
politically active

3. Criticising the activities of Indian natienalists

4 Launching a new nationalist movement



ferafafad Terw #7 ufed ofiT 46 T 50 TF LT F I
gifere ;

B 1916 § &G H T4 &1 HIHU U6 w1 W ag B
T o, ST YR Apare U Sid givaen 4, foreH
FHI, Mipwmm] AR YA ® gied YrieR 4| g,
T TR R U8 38 1 @] Sy uT g TF dedd o
q1e] Tt eaide] B WA APATE Bl A B GepE
51 Gad] gy @) i a1t 35 yRdig ar &7 8T
e ggfaa wiafifia 8 9% | 99 o & Jifam g md =
@I 30 Hiiq A ® FdeR &4 ¥ URad Y- & §HIE
U 311 fGHaR 1916 § G@ H HiTad 96 H (98X &
U & feraEl 3 oY Hud wiftd | et R o
fafew ia @1 ©al - aial & -6 oIgeR & i J ga/dl
4T | T S P gy 1917 H AUAT U@y §9Y 9uRA | ol
I &) 981 411 4 ! & e srdara & Rl &
IY-TIY I gR1 AU GG &1 Ba FTH S Woad &
AT ER e §1 99 1918 F T ST 307 TeAnd ToRe o

ol sfaiem 5 2T 50 9auuE 3o $uel Ha & SIRI
@] BCY d8aT B4 B 10U SEHTEIG J %4 faar §
EEIAY {3501 | TOHT YT 941G 8- & 15 [puHl IR
HEORIYT 41 @ AT%] 5 U 8 &M ard g SiaieH &
YT T | 39 SRTe Sl & 9y ey il o kil &
Uil 187 GerYf T8 91 Uparel © 39 7 UgeH o o |
T T R U 4| nyHE Y 3 @ S ol 4 T TR
Udal TS SR ST oE & o) AeRas 180 aH $1 HTHd
A |

e B A 37 FeR AFE] S GR1 TG B [Hm1E B
| 7TE] S R STl Mgl 9eH & HEF & SR
I AR UiEE YRd H dvd P 1edfd I sl |

el < & yren § Fgfafas & 9 g e 91 sftefea
gs di?
1. YRAE AParE @ AR AYE ufaEe @ed o
2. FEdl & Tenae ©U 4 9ied oH ©1 3531 &)
I B
3. YA APAIG & BEGA B SATarEH] S
4. T APAIG] AT HRH BT

[Question ID = 747][Question Description = 147_0_GP28_0CT22_S2_Q47]
1. 1 [Option ID = 2985]
2. 2 [Option ID = 2986]
3. 3 [Option ID = 2987]
4. 4 [Option ID = 2988]



3)

Read the following passage and answer questions 46 to
50:

Gandhi's:speech in Banaras in February 1916 was, atone
level, merely a statement of fact namely, that Indian
nationalism was an elite phenomenon, a creation of lawyers
and doctors and landlords, But, at another level, it was a
statemnent of intent-the first public announcement of the
returning expatriate’s own desire to make [ndian
nationalism more properly representative of the Indian
people. In the last month of that year, Gandhi was
presented with an opportunity to put his precepts into
practice, At a meeting held in Lucknew in December 1916,
he was approached by a peasant from Champaran in Bihar,
The peasant told him about the harsh treatment of peasants
by British Indigo planters, Gandhi was te spend most of
1917 in Champaran, He was seeking to obtain for the
peasants security of tenure as well as the freedom to
cultivate the crops of their chaice. In 1918, Gandhiwas
involved in two campaigns in his‘home State of Gujarat.
First, he intervened in a labor dispute in Ahmedabad to
better the conditions of textile mill workers. Then he joined
peasants in Kheda for remission of taxes on peasants
following the failure of their harvest. These initiatives
marked Gandhi as a nationalist with sympathy for the poor.
These were loral struggles, During the World War |, the
British had instituted press censorship and permitted
detention without trial. The Rowlatt commities
recommended the continuation of these tough measures,
Gandhiji's call for a countrywide campaign brought life to
standstill in north and west India.

Gandhijl could put his precept into practice during

1. The Lucknow mieeting

2. The talks with landlords

3. The Champaran campaign

4, Tnie interaction with nationalist leaders



ferafafad Terw #7 ufed ofiT 46 T 50 TF LT F I
gifere ;

B 1916 § &G H T4 &1 HIHU U6 w1 W ag B
T o, ST YR Apare U Sid givaen 4, foreH
FHI, Mipwmm] AR YA ® gied YrieR 4| g,
T TR R U8 38 1 @] Sy uT g TF dedd o
q1e] Tt eaide] B WA APATE Bl A B GepE
51 Gad] gy @) i a1t 35 yRdig ar &7 8T
e ggfaa wiafifia 8 9% | 99 o & Jifam g md =
@I 30 Hiiq A ® FdeR &4 ¥ URad Y- & §HIE
U 311 fGHaR 1916 § G@ H HiTad 96 H (98X &
U & feraEl 3 oY Hud wiftd | et R o
fafew ia @1 ©al - aial & -6 oIgeR & i J ga/dl
4T | T S P gy 1917 H AUAT U@y §9Y 9uRA | ol
I &) 981 411 4 ! & e srdara & Rl &
IY-TIY I gR1 AU GG &1 Ba FTH S Woad &
AT ER e §1 99 1918 F T ST 307 TeAnd ToRe o

ol sfaiem 5 2T 50 9auuE 3o $uel Ha & SIRI
@] BCY d8aT B4 B 10U SEHTEIG J %4 faar §
EEIAY {3501 | TOHT YT 941G 8- & 15 [puHl IR
HEORIYT 41 @ AT%] 5 U 8 &M ard g SiaieH &
YT T | 39 SRTe Sl & 9y ey il o kil &
Uil 187 GerYf T8 91 Uparel © 39 7 UgeH o o |
T T R U 4| nyHE Y 3 @ S ol 4 T TR
Udal TS SR ST oE & o) AeRas 180 aH $1 HTHd
A |

e B A 37 FeR AFE] S GR1 TG B [Hm1E B
| 7TE] S R STl Mgl 9eH & HEF & SR
I AR UiEE YRd H dvd P 1edfd I sl |

e o 5 3 e w1y @1 Fetiad 8 © fde R
wli-ad fodT 7

1. TEAS T4

2, 1Al & 9y a9l

3. 99RA TATE

4. AFTGETC] ATl & 9y STl

[Question ID = 748][Question Description = 148_0_GP28_0CT22_S2_Q48]
1. 1 [Option ID = 2989]
2. 2 [Option ID = 2990]
3. 3 [Option ID = 2991]
4. 4 [Option ID = 2992]



Read the following passage and answer questions 46 to
50:

Gandhi's:speech in Banaras in February 1916 was, atone
level, merely a statement of fact namely, that Indian
nationalism was an elite phenomenon, a creation of lawyers
and doctors and landlords, But, at another level, it was a
statemnent of intent-the first public announcement of the
returning expatriate’s own desire to make [ndian
nationalism more properly representative of the Indian
people. In the last month of that year, Gandhi was
presented with an opportunity to put his precepts into
practice, At a meeting held in Lucknew in December 1916,
he was approached by a peasant from Champaran in Bihar,
The peasant told him about the harsh treatment of peasants
by British Indigo planters, Gandhi was te spend most of
1917 in Champaran, He was seeking to obtain for the
peasants security of tenure as well as the freedom to
cultivate the crops of their chaice. In 1918, Gandhiwas
involved in two campaigns in his‘home State of Gujarat.
First, he intervened in a labor dispute in Ahmedabad to
better the conditions of textile mill workers. Then he joined
peasants in Kheda for remission of taxes on peasants
following the failure of their harvest. These initiatives
marked Gandhi as a nationalist with sympathy for the poor.
These were loral struggles, During the World War |, the
British had instituted press censorship and permitted
detention without trial. The Rowlatt commities
recommended the continuation of these tough measures,
Gandhiji's call for a countrywide campaign brought life to
standstill in north and west India.

Which issue propelled Gandhiji to the national stage for a
wider moverment?
1. Labour dispute of textile mill workersin Ahmedabad
2. Agitation peasanis in Kheda
3. The revolt against British Indigo planters
4, The Rowlatt Act



ferafafad Terw #7 ufed ofiT 46 T 50 TF LT F I
gifere ;

B 1916 § &G H T4 &1 HIHU U6 w1 W ag B
T o, ST YR Apare U Sid givaen 4, foreH
FHI, Mipwmm] AR YA ® gied YrieR 4| g,
T TR R U8 38 1 @] Sy uT g TF dedd o
q1e] Tt eaide] B WA APATE Bl A B GepE
51 Gad] gy @) i a1t 35 yRdig ar &7 8T
e ggfaa wiafifia 8 9% | 99 o & Jifam g md =
@I 30 Hiiq A ® FdeR &4 ¥ URad Y- & §HIE
U 311 fGHaR 1916 § G@ H HiTad 96 H (98X &
U & feraEl 3 oY Hud wiftd | et R o
fafew ia @1 ©al - aial & -6 oIgeR & i J ga/dl
4T | T S P gy 1917 H AUAT U@y §9Y 9uRA | ol
I &) 981 411 4 ! & e srdara & Rl &
IY-TIY I gR1 AU GG &1 Ba FTH S Woad &
AT ER e §1 99 1918 F T ST 307 TeAnd ToRe o

ol sfaiem 5 2T 50 9auuE 3o $uel Ha & SIRI
@] BCY d8aT B4 B 10U SEHTEIG J %4 faar §
EEIAY {3501 | TOHT YT 941G 8- & 15 [puHl IR
HEORIYT 41 @ AT%] 5 U 8 &M ard g SiaieH &
YT T | 39 SRTe Sl & 9y ey il o kil &
Uil 187 GerYf T8 91 Uparel © 39 7 UgeH o o |
T T R U 4| nyHE Y 3 @ S ol 4 T TR
Tda] TS SR ST 2d & B e 180 aH $1 ATHd
A |

e B 4 37 oK AFE] S GR1 TG B FH1E B
| 7TE] S §R] STl Mgl 9o & HEHF & BRu
IR AR UI8E YRd H d8vd P 1edfd I gl |

frafafad & | feow g A 7 off & g R W) s
HigieH @ o8 Ui A

1. IEYEIEE 4 $US Hd HeRI &I 59 Gag

2. WeT & gt o1 sifaied

3. ic Pu®I @] HUw & (GG 9ale

4. ¥te o

[Question ID = 749][Question Description = 149_0_GP28_0CT22_S2_Q49]
1. 1 [Option ID = 2993]
2. 2 [Option ID = 2994]
3. 3 [Option ID = 2995]
4. 4 [Option ID = 2996]



5)

Read the following passage and answer questions 46 to
50:

Gandhi's:speech in Banaras in February 1916 was, atone
level, merely a statement of fact namely, that Indian
nationalism was an elite phenomenon, a creation of lawyers
and doctors and landlords, But, at another level, it was a
statemnent of intent-the first public announcement of the
returning expatriate’s own desire to make [ndian
nationalism more properly representative of the Indian
people. In the last month of that year, Gandhi was
presented with an opportunity to put his precepts into
practice, At a meeting held in Lucknew in December 1916,
he was approached by a peasant from Champaran in Bihar,
The peasant told him about the harsh treatment of peasants
by British Indigo planters, Gandhi was te spend most of
1917 in Champaran, He was seeking to obtain for the
peasants security of tenure as well as the freedom to
cultivate the crops of their chaice. In 1918, Gandhiwas
involved in two campaigns in his‘home State of Gujarat.
First, he intervened in a labor dispute in Ahmedabad to
better the conditions of textile mill workers. Then he joined
peasants in Kheda for remission of taxes on peasants
following the failure of their harvest. These initiatives
marked Gandhi as a nationalist with sympathy for the poor.
These were loral struggles, During the World War |, the
British had instituted press censorship and permitted
detention without trial. The Rowlatt commities
recommended the continuation of these tough measures,
Gandhiji's call for a countrywide campaign brought life to
standstill in north and west India.

The main intent of the passage is to deseribe

1. The British atrocities in India

2. The different facets of Indian national movement

3. The various campaigns against the British in [ndia

4, The emergence of Gandhiji as a representative
national leader



FrafafeEa e o1 ufed ot 46 & 50 TH U F I
gifeg ;

W] 1916 § §910G H 77| &1 HTHY] U &8 W a9 oy
T o, ST YR Apare U Sid givaen 4, foreH
TE, Fafem! R Y @1 Oty uRer 6| g
O TR W T8 39 A1 3 oy o1 fagd GF dlead o
aTe WAt SHiaad] @1 HRKY JPAIG Pl U Bl Sy
BT G SUINOn &1 7TH] A 59H YRa™ aill @1 3
i@ TR Ui 5 59 39 9y & s 71 T @
@1 (0 i 919 B agR €U ¥ URad B B gHaw
U g1 fETeR 1916 & vi@3 § HAIod 96 J (98K &
dURA & far! - 374 Hud g o | e g/ 3=
fafem +ia @1 T - aral & H64 9geR & gR H gad
T | e @] @Y 1917 | AT SiUdmiS §ug 9ueA 3 o
I &) 981 411 4 ! & e srdara & Rl &
IY-TIY I gR1 AU GG &1 Ba FTH S Woad &
AT H 16 41 T8 1918 F TR S 307 TTeReg o o

&1 Hffgiemt | anfhd gU) 99y 36 Bugl Ha & sHaRl
@ DRCY d5at B & (08 HEHGIEIE | 94 ([9aG H
EEIAY {3501 | TOHT YT 941G 8- & 15 [puHl IR
HEORIYT 41 @ AT%] 5 U 8 &M ard g SiaieH &
YT T | 39 SRTe Sl & 9y ey il o kil &
Uil 187 GerYf T8 91 Uparel © 39 7 UgeH o o |
3 ol g O 4| 0yE 9% 08 & eRE o9 4 TR
Udal TS SR ST oE & o) AeRas 180 aH $1 HTHd
A |

Jcie 9fEfT A 3 SR aFel B §R) e @) whE &t
71 7Tl i gR1 ST Sigle 99 § HEH & SR
I AR UiEE YRd H dvd P 1edfd I sl |

T & 5% 9E R FEfatad o | g g e 8 7
1. YIRa H feifew @R
2. YR AP SHigie & H ua
3. YRa H UGl & 9w [Afay sivae
4. 71 St 1 Uit g A & wu H anfaula

[Question ID = 750][Question Description = 150_0_GP28_0CT22_S2_Q50]
1. 1 [Option ID = 2997]
2. 2 [Option ID = 2998]
3. 3 [Option ID = 2999]
4. 4 [Option ID = 3000]






